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Correct Marks: 2 Wrong Marks: O

Which among the following is the best field of study to improve the ability of students to
experiment and analyse ?

Options:

Science
91394396001,
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B9133453600%, Histc gt

91394396003 LCONOMICS

Lancuages
91394396004, —oIEUAH
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Options:
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Correct Marks: 2 Wrong Marks: 0
Suppose as a teacher you are training your students in public speaking and debate. Which
among, the following is most difficult to develop among the students ?

Options:

Concept formulation
91394396005,
91394396006, Voice modulation

Usine/Selecting appropriate laneuave
91394396007, g/ R T S o =
91394356008, Control over emotions

Question Number : 2 Question Id : 91394324451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

0H =i T T foersr & 9§ 39 3199 BE ] Gesaes 9y R ae-faae S uftm g @ |
e H freiferg § 9§ a1 fasfad e 999 Ffed 82

Options:



SAIHROT THTT

91334536005,
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Among the ft..‘sﬂnwing which one is not an instructional material ?
Options:

- -!I — 5
13943965000 22UdIO podcast

11 3 OOl
1304396010, L rinted study guide

Overhead projector
91394396011,

) e video
0159439601 5. Youtube videc

Question Number : 3 Question Id : 91394324452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feifeRd | 9 M Uk TS 9Tl el § 2

Options:

Affed diehre

91334536009

qigd steee foen-few

215394236010

3_1'\ B, LY
91394396011 N ANeS AlSlees

A it

291234596012

Question Number : 4 Question Id : 91394324453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is best advantage of Choice Based Credit System ?
Options:

SRR Shift in focus from teacher-centric to student-centric education

a1za4z95014 LIPTOVING classroom attendance

1304306015 11€lping teacher to complete syllabus on time

Reducing examination anxiety among students
91394396016 2 /
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Which among the following reflects best the quality of teaching in a classroom ?
Options:

T - g ¥ " - . -~ ¥ O
91394396017 ['hrough full attendance in the classroom

Through the use of many teaching aids in the classroom
91394296018, :

1304396019 LNrough observation of silence by the students in classroom

r 1 ." ‘-r L :I' .'I - I--| k- -|’ L-. L-| - —) -|- Il-| Il-| N - -~ I.-|L-| 'l’ 'l,
T— ['hrough the quality of questions asked by students in classroom
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Correct Marks: 2 WrongMarks: 0
The four major operations in scientific research are :

(a) Demonstration of co-variance

(b) Elimination of spurious relations

(c) Sequencing in terms of time-order

(d) Self-education

(e) Operationalisation of personal choice
(f)  Theorisation

Code :

Options:

(a), (b), (c) and (d)

21594236021,

(c), (d) and (e)

91394396022, (b)’

01394396005 (@) (D), (€) and (f)

(c), (d), (e) and (f)

215334236024,
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913345396021,

(b), (©), (d) 3R (e)

B13345396022,

(@), (b), (c) 3R (f)

B913345396023.
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215334236024,
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Formulation of a research problem depends upon :

(a)  What is the object behind the researcher’s choice ?

(b)  What are the specific questions ?

(c)  What is the conceptual model ?

(d) What negative factors to research upon ?

(e) Reasons for unlimiting the study.

(f)  Construction of hypotheses.

Code :
Options:

c), (e) and (f)

91334536025, (El), (



91394396026, (b), (¢), (d) and (e)
o1394396007 (@) (D), (€) and (f)

91394396028, (c), (d), (e) and (f)
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215334236027,
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A variable that is manipulated is known as :
Options:

2 T
a1za4396009 —oONtrol variable



a1za4z9s050. DePendent variable

150439605, NNdependent variable

Confounding variable
91394396032,
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The components of a research design are :

(a) Comparison (b) Control
(c) Reactivity (d) Manipulation
(e) Non-representativeness (f)  Generalisation
Code :
Options:

91394396033 (a), (‘:)’ (e) and (f)
(b), (c), (d) and (e)

H13345396034.

91394396035, (a), (b), (d) and (f)

51304396056, () (d), () and (f)
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Correct Marks: 2 Wrong Marks: 0
Artifacts that arise and affect the internal validity in research are :

(a) History (b) Randomisation (c) Maturity
(d) Instrumentation (e) Experimental mortality (f)  Matching
Code :
Options:

91394396037, (a), (b), (c) and (d)
01394396035 (a), (c), (d) and (e)
91394396039, (b), (¢), (d) and (f)

91394396040, (d), (e), (f) and (b)
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Options:

(a), (b), (c) 3R (d)

91334536037,

(a), (c), (d) 3 (e)

B12345396035.

(b), (<), (d) 3T (f)

B13345396033.

(d), (e), (f) ¥R (b)

B13345396040,
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Read the following passage carefully and answer questions 11 to 15 :

Singapore has long advocated for India to take up its role as an integral part of the
region. It is gratifying to see how Asean - India relations have grown during the past
25 years. In 1991, when the Cold War ended and India began its economic liberalisation,
Singapore saw an opportunity to deepen ties and build on its historical and cultural links
with the Asian region. Singapore pushed for India to become a full Asean dialogue partner
in 1995 and join the EAS in 1995 and since then, Asean - India ties have strengthened. All in
all, around 30 platforms for co-operation exist, including seven ministerial dialogues and the
Annual Leader Summit. However, there is scope for more and it is a must. For instance,
there are tremendous opportunities in enhancing physical and digital connectivity between
India and Asean. Asean is committed to strengthening land, air and sea linkages with India.
These linkages will enhance people-to-people flows, as well as boost business, investment
and tourism. The India-Myanmar-Thailand trilateral highway will connect India’s Northeast
to mainland Southeast Asia. While one can fly directly between India and several Asean
countries, there is still much room to expand air links to support growing business and tourism.
Beyond physical linkages, digital connectivity is the new frontier in the Fourth Industrial
Revolution. India has made great progress in innovation, Start-ups and digital inclusion.
There are opportunities to apply initiatives such as Aadhaar in our region. E-commerce and
FinTech are two other areas of potential collaboration. As an economic hub, Singapore can
serve as a springboard to launch these ideas to Southeast Asia and beyond. India’s role in
Asean should be anchored by growing economic ties with Singapore. The economic
integration involving 16 countries with one-third of global GDP and trade will create an
integrated Asian market.

Sub questions

Question Number : 11 Question Id : 91394324461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
What prompted Singapore to opt for stronger ties with India ?

Options:

139439604, N of Cold War

T R Economic liberalisation in India

Historical past
91394396043,

Geo-political equations
91394396044,
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The commitment of Asean with India is :
Options:

e i 1alogues
1504396045 More and more dialogues



Offer political platforms
91394396046,

Improving transport links
91394396047, B

Hold leadership summits
91394396048,
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What is needed to encourage tourism between India and Asean ?

Options:
91394396049, LMT links

91394396050 Innovation

Start-ups
91394396051

Waterwavs
91394396052, J
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Correct Marks: 2 WrongMarks: 0
The areas of collaboration between India and Asean are :

(a) FinTech
b) Aadhaar

c¢) E-commerce

(
(
(d) Digital backwardness
(e) Trilateral highways
(

f)  Fourth Industrial Revolution

Options:

(a), (b), (c) and (d)

913345396053,

(b), (c), (d) and (e)

91334596054,

91394396055, (€), (d), (e) and (f)



91394396056 (a), (¢), (e) and (f)
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Who can be India’s launchpad for an integrated Asian market as per the passage ?
Options:

91394396057, | hailand

Mvanmar
91394396058, -

Southeast Asia
91394396059,

Singapore
91394396060,
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Sub questions
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Options:

Sitd I ol I

91334596041,
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91334536045, C ”é 1Y l

91334536050,
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(@), (b), (c) ¥R (d)

913345396053,

(b), (c), (d) 3 (e)

B12345396054.

(©), (d), (e) 3T (f)

2915334236055,

(a), (), (e) 3R (f)

B913345396056,

Question Number : 15 Question Id : 91394324465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR F STTUR Uk Uhihd U IR & fau i 9Ra &1 Ar=gde 21 Tl €2

215334236057,

913345396058,



HEREECRUNE!

91334536059,

B1334536060, 3

Sub-Section Number: 3
Sub-Section |1 d: 9139431306
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394324466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the digital era, there is a fear that classroom communication may result in :

Options:

- .
o1504z060e;  Otmulation

91394396062 Over-stimulation

Quick adaptation
91394396063,

Passive adaptation
91394396064,
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Options:

B91334536061.

AfqUTor
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Question Number : 17 Question Id : 91394324467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-verbal communication is considered :
Options:

s L Py
91394396065, L TECISe

913943960, INformal

91394396067, L ormal

01394395068 Culture-free
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2Tk

913345396065,
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S| IECT
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913345396068

Question Number : 18 Question Id : 91394324468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Negative criticism as an element of classroom communication will lead to :

(a) External sympathy (b) Justification
(c) Defensiveness (d) De-motivation
(e) Supportive listening (f) Confrontational empathy
Code :
Options:

(b), (c) and (d)

913345396069,

s1394398070. (©) (d) and (e)



123345396071, (d), (E) and (f)

(a), (b) and (c)

B133433607%2,
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913345396069,

215394236070,

123345396071,

215394236072,
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Assertion (A) : Teacher communication is central to classroom management.

Reason (R): Teacher communication behaviours should not be used to regulate the
classroom behaviour of students.

Code :

Options:

91394395073 DOth (A) and (R) are true.

01394396074 DOt (A) and (R) are true, but (R) is not the correct explanation of (A).

91304395075, (AA) 18 true, but (R) is false.

91394396076, (A) is false, but (R) is true.
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B12334536073.
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91334536074,
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The rhetorical approach in classroom communication considers teachers as _____agents
of students.

Options:

Influencing
91394396077,

91394396078, Academic

B13345396073. Official

2l I
o1394396080. [\ ON-Olficial
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ATYRTIS

B1334536073,

- s1ferepiiian

B1334536080.

Question Number : 21 Question Id : 91394324471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If ABODE i1s coded as ADRH], then the code for AGRO will be :

Options:

llI' ™
B1334536081. AVCD

B13345396052, AIUS

B913345396053. AIST

7
2123345396054, AIVX

Question Number : 21 Question Id : 91394324471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ife ABODE &1 ADRH] & &4 ¥ heag foan 7 8, dl AGRO &1 %2 21 :

Options:

91394396081 AVCD

913345396082, AIUS

AIST
91394396083,

913345396054, AIVX

Question Number : 22 Question Id : 91394324472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The next term in the series 0, 1, 9, 36, 100, ¥

Options:



225
91334536055 — T

B123345396056. 164

1C
B12334536057. 196

913345396088,

Question Number : 22 Question Id : 91394324472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T el g Hf :
0,1,9, 36,100,

Options:

91334536085, =<

B13345396056.

B1334536087.

-
B12345396058. 216

Question Number : 23 Question Id : 91394324473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The next term in the letter series DEF, HIJ, LMN, POR, TUV,  1is:
Options:
91394396039, WYZ

91394396090, YZA

H13345360391. XYZ

B13345396032, WXY

Question Number : 23 Question Id : 91394324473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



JUIHH G Sl G HifT
DEF, HIJ, LMN, PQR, TUV, __

Options:

913345396059, WYZ

YZA
91394396090,

913345360391, XYZ

91594396092 VXY

Question Number : 24 Question Id : 91394324474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the word which is different from the rest :

Options:

91394396093, Aravali Hills

o1594396004, Onuvalik Hills

L PRE L
2915334236035, NI[DHI Hills

91394396096 Mount Kilimanjaro

Question Number : 24 Question Id : 91394324474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
STH H oHd s R 991 HIfeT

Options:

el i wRifeAl

B123345960393

91334596094

AR = et

B13345396035

B1334536036



Question Number : 25 Question Id : 91394324475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Jenifer’s father-in-law is my brother. Helenis a grand-daughter of my mother. How is Helen
related to Jenifer ?

Options:

Daughter-in-law
91394396097,

Sister
91394396098,

e s
91394398009, O1Ster-IN-lan

1394306100, Mother

Question Number : 25 Question Id : 91394324475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ST o1 TR B W1E ® | g T A R U B g IR SR % S 9 ey 2

Options:

B12334536097. E\

913345396035, e

qret

215334236099,

91334596100, Hi

Question Number : 26 Question Id : 91394324476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following, there are two statements which can’t be true together, but can be false
together. Select the code that represents them.

Statements :

(a) All poets are dreamers. (b) No poets are dreamers.

(c) Some poets are dreamers. (d) Some poets are not dreamers.
Code :

Options:

(a) and (b)

91334596101,



(@) and (d)

H13345396102.

(b) and (d)

91334596103,

(c) and (d)

91334596104,

Question Number : 26 Question Id : 91394324476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freifRa &1 o T 19 9 121 21 Hehd, fohg T W19 379 8 9% ¢ | Tl S 3 He i F9d
Exd

hdH

(a) T FHfq E=Ag=I 2 2 | (b) T HiG FHGET TE el

() TS Hd WG T 2 | (d) FS Hfa =gl 78 T ¢ |

e

Options:

(a) 3R (b)

913345396101,

(a) 3R (d)

B912334596102.

(b) 3R (d)

9123345396103,

(c) 3R (d)

912334596104,

Question Number : 27 Question Id : 91394324477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two premises (a) and (b). Four conclusions are drawn from them. Select the
code that states validly drawn conclusion(s). [Taking the premises individually or jointly]

Premises : (a) All judges are lawyers.
(b) No doctors are lawyers.
Conclusions : (i) No lawyers are doctors.
(i) No doctors are judges.
(iti) All lawyers are judges.
(iv) Some doctors are judges.
Code :

Options:



(1) and (iii)

2915334236105,

(i) and (ii)

91334596106,

(i) and (iv)

913345396107,

91334596108, (I_I'.) and (I'.LI'.)

Question Number : 27 Question Id : 91394324477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1= < sErET fou MU E, (a) 3 (b) | Y =R feRd e €1 39 9E1 Fe #1999 L o 9y
TThY STl €1 [ SR SR 1 T 919 A1 376l oid g
IMUNETST :  (a) Gt =IATefier 9ot € |

(b) HE fafsHs a#ia T 2
R (i) E g fafdes T g
(
(
(

i)y S fafwras =iy = g

iii) Y FehieT =AY ¥ |

iv) F Tafwcs = )
<

Options:
912943396105,
91924396106,

215334236107,

912334596108,

Question Number : 28 Question Id : 91394324478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Under which of the conditions an argument may be valid ? Select the correct answer from
the code given below :

Statements : (a)  When its conclusion and premises are true.
(b) Even when its conclusion and one or more of its premises are false.
(c)  Only when its conclusion is true.

Code :

Options:

(a) and (c)

913345396109,

(a) alone
91394396110,

(a) and (b)

291594296111,

a1394306112. (C) alone

Question Number : 28 Question Id : 91394324478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o aftfearfodi # v ok 99 31 Weha1 €2 9 feu T e W H | S g ¢

HIT : (a) 9 THF (TRY IR SER-TE T B € |
(b) & i S THF FTohd 3R T A1 THY ATYF YR Terd 2 © |
(c) Ta& avf v frehd w1t 2 21

G
Options:

(a) 3R (0)

21594296109,

ESE7 (a)

912334596110,

(a) 3R (b)

91334596111,

ot ()

91334596112,

Question Number : 29 Question Id : 91394324479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Truth and falsity are attributes of :



Options:
I—"ru:.‘:plz.‘:ssi tions
91394396113,

Arguments
91394396114,

Op mnions
91394396115,

—
91394396116, Debates

Question Number : 29 Question Id : 91394324479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=1 3R 39l fhg & o1 €2

Options:

91334596113, gﬁsﬁ:ﬁ a;
THh

21594296114

3y &

912334596115

ae-faare &

B13945396116

Question Number : 30 Question Id : 91394324480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following can be validly inferred from the proposition - “All animals are

wild” ?
Options:

51394396117, No animals are wild.

91394396115, Some animals are wild.

91394396119 D0Me animals are not wild.

SiseissrEyy TNO non-animals are wild.

Question Number : 30 Question Id : 91394324480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“geft ay) SRt 2 €' 39 wfaafa @ i B 9w 9y HeeEe @ S gehd § 2
Options:

IS Y] ST T €

913345396117

ECANEUCIEY

2915334236118

9y Sl T €

215394236119

I TR-u el T €

2153942368120

Sub-Section Number: 4
Sub-Section 1d: 9139431307
Question Shuffling Allowed : Yes

Question Id : 91394324481 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension

Data on % of villages not electrified in 6 States is given below (in the year 2000) :

State | %o of villages not electrified
A 25%
B 45%
i 20%
D 60%
E 55%
F 30%

Answer the following three questions :

Sub questions

Question Number : 31 Question Id : 91394324482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many States have atleast 50% or more electrified villages ?
Options:

91394396121 4

~y
91394396122, -



)
91394396123, <

1

913345396124,

Question Number : 32 Question Id : 91394324483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which State has twice the percentage of electrified villages in comparison to State D ?

Options:

91394396105, Otate A

91394396126, State B

91394396107 Otate C

s1394306125 otate D

Question Number : 33 Question Id : 91394324484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the year 2000, the total number of villages in State D was 15,000. In the year 2010, the
total number of villages had increased to 20,000 out of which 10,000 villages were yet to be
electrified.

The % of villages not electrified in 2010 in State D has thus __
Options:

30 )
91394396129, Gone Ll[_

Come down
913943296130,

Not enoueh data
91394396131, er - Bk

g
1394396130 —annot be computed

Question Id : 91394324481 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 33)
Cuestion Label @ Comprehension



6 Tl § Taegdien<or § Sfad el i iaeiaal Sest sishe =9 fgu T € (39 2000 #) :

T | faerdtentor 4 dfem Tidi o6t gfagraar
A 25%
B 45%
C 20%
D 60%
E 55%
F 30%
feiferd i U9 & 3T S :
Sub questions

Question Number : 31 Question Id : 91394324482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o T4 & HH 9 FH 50% A1 ST e T fadied & 9% @ ?
Options:

91394296121, 4

)
91394398122,

P
91394396123, ~

1
91394396124,

Question Number : 32 Question Id : 91394324483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o U= § Tamgdiand Tt =61 @ &1 Yfavd D T390 & g1 8§ g7 & 2
Options:

91394396125, A

RN
91394396126,

913345396127, e C

H13345396125. D



Question Number : 33 Question Id : 91394324484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
a9 2000 H, D T4 H T4l 1 o =1 15,000 91 FG 2010 H, 76l 1 @A 98 F 20,000 B T
off forad | 10,000 el o1 AT faegdiga foman < o)

T YR, 9 D H a9 2010 # foegdietor 4 dfeq widi & S@ &1 giaerad !

Options:

91334596129, ag Trg :g

TR

91334596130,

91334596131,

UM FE] Sl ST Hehdl

913345396132,

Sub-Section Number : 5
Sub-Section 1d: 9139431308
Question Shuffling Allowed : Yes

Question Id : 91394324485 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cesticn Label | Comprehiension

Data on education index in a few States is given below :

State Name| % of population below education index
A 20%
B 25%
C 23%
D 17%
B 16%
3 21%
G 15%

Answer the following two questions :

Sub questions

Question Number : 34 Question Id : 91394324486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If the population for State F is 2.6 lakhs, what is the population below education index ?

Options:

1o i R
s1394396133, V-39 lakhs

91394395134 3200 lakhs

a139439515s 49000 lakhs

91394396136, 51000 lakhs

Question Number : 35 Question Id : 91394324487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the total population of State A was 5 lakhs while the population in State B was 2 lakhs, the
number of people below education index will be :

Options:

Higher in State A

21594296157,

T 1 uf
91384396138, Higher in State B

91394396159, Equal in State A and B

91394396140, —aNNot be calculated

Question Id : 91394324485 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cuesticon Label | Comprehiension



FS T4l o (6T gadhish el ik e fou mu ¥

<A T W | 79180 Herchich | i<l &l ATETET okl WiA9TddT
A 20%
B 25%
C 23%
D 17%
E 16%
F 21%
G 15%
frifRd ST 99 & ST T -
Sub questions

Question Number : 34 Question Id : 91394324486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gfe T F 1 STEG1 2.6 AME ¢ 1eql Y=ehish & A= &1 STErel fohal ¢ 2

Options:

.39 @@

215394236155

91394396134 02U0 TE

51394396135, 49000 <l

91394398136, 2 1000 <&

Question Number : 35 Question Id : 91394324487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife TET A il el AEE] 5 g o, Siafer TF B 1 STr=ie] 2 & o, o fonen gerehien | == & <
1 &A1 BAM

Options:

91394596137, A 4

912334596138, y Bﬁ 3 I

913345961349, T A WB ﬁ THT



O &l T ST Fehall

H913345396140,

Sub-Section Number: 6
Sub-Section 1d: 9139431309
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394324488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A small text file stored on user’s computer by some websites in order to recognize and keep
track of user’s preferences is called :

Options:

1394396141 L1IStOTY

L-:.‘sg
91394396142,

91394396143 COOKkIE

20
91334596144, RE‘[_ ort

Question Number : 36 Question Id : 91394324488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WA 1 WATHSHAI3 i Je9M & a9 39 W ARE T84 & &9 § Fdl JedEe gR Y& &
I H R H T Tk oY TR FlEed Feedil ¢ :

Options:

91334596141, i

91334596142,

2915342361435,

H91334596144. i 2

Question Number : 37 Question Id : 91394324489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

denotes an error in a C(]ﬂ"lplltt’.‘l’ prograin.

Options:



I = 1
91394396145, V1IUS

91394396146, DIt

Bug
91394396147

Spam
91394396148,

Question Number : 37 Question Id : 91394324489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e U | foRt Fqfe F g B

Options:

913345396145, L

2915334236146,

Ul
Q1294395147

L2k

91334596148,

Question Number : 38 Question Id : 91394324490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The output quality of a printer is measured by :

Options:
Dieits per inch

91394396149, Bk

Dots per inch
91394396150,

Dots per cm
91394396151

Jots p
91394395152, L ots [_ Sl

Question Number : 38 Question Id : 91394324490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o= 1 33T ToTE1 HId S ©

91394396149, W qid =9

91334596150, ™ ﬁ
91334596151, s

2feq gfd e

913943965152, *

Question Number : 39 Question Id : 91394324491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are audio file formats ?

(a) .wav (b) .aac (c) .wmv (d) .flv
Code :
Options:

(a) and (b)

2915342361535,

(b) and (c)

912334596154,

(c) and (d)

291594296155,

(a) and (d)

913345396156,

Question Number : 39 Question Id : 91394324491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafad § 9 =@ & sifedl wa wiFe €72
(a) =] TH (b) T"TH (c) SsuHdl (d) .U% T i
che

Options:

(a) 3R (b)
(b) 3R (c)

291594296155,

2915334236154,



(c) 3R (d)

913345396155,

(a) 3 (d)

91334596156,

Question Number : 40 Question Id : 91394324492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a computer, if 8 bits are used to specify address in memory, the total number of addresses

will be :
Options:

913345396157,

2915334236158,

I~
o
o~

913345396159,
913345396160,

Question Number : 40 Question Id : 91394324492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T FgeR H, Af 8 faeg HuRl § TgH % faw Suam g €, 9 ugHi #1 Fa He e

Options:

517
91394396157, 212

2915334236158,

913345396159,

o

91334536160,

Question Number : 41 Question Id : 91394324493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The annual range of temperature in the interior of the continents is high compared to coastal
areas. What is/are the reason(s) ?

(a) Thermal difference between land and water.

(b)  Variations in altitude between continents and oceans.

(c) Presence of strong winds in the interior.

(d) Heavy rains in the interior as compared to coastal region.
Code :

Options:

(a) only
91394396161, ’

(a) and (b) only

913345396162,

(b) and (c) only

913345396163,

(a), (b), (c) and (d)

912334596164,

Question Number : 41 Question Id : 91394324493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qeadi &3 i g | Tergrdl o il & 8 arasd i At diHn A 2l 81 SHR/IEE
HRI /e ?

(a) YfF AR T F =9 T

(b) HeEY 3R HEEIRI &I gg@ 4 fads

(c) offadt & H 1 gan =1 Sufefd

(d) dead & gord H ofiad a3 § vl 9w

oy ¥ @
1304506100, T (a) ST (b)
o1304506165. A (0) 3T ()
oorsesa (@) (0), (Q) IR ()

Question Number : 42 Question Id : 91394324494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

How much carbon is being added to the atmosphere by burning of fossil fuels ?
Options:

91394395165, O = 9 billion tons

2 - 6 billion tons

91394396166,

F. - _j‘ - L.‘
91394306167 1 - 0 billion tons
91394395168 2 - 12 billion tons

Question Number : 42 Question Id : 91394324494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETYH 249 1 ST 9 Fraray § fohdan e Fee Sl ¢ 7

Options:
6b-9 aihﬂﬂ G|
91394396165,
91394396166, 2 - 6 ToIfc <
91394396167 %= IE' <
o Iaiﬁaﬁ
91394396168 9-12 <

Question Number : 43 Question Id : 91394324495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which part of India, the tropical Western Ghats are situated ?
Options:
s1394396169, 1 UTJAD

912943961 70. Rajasthan

91394396171, ("u]dmt

91394396172, Kerala



Question Number : 43 Question Id : 91394324495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I SHicaHg 9fY=y = 9rd o foeg um o fog g2

Options:

ESIE|

913345396169,

913345396170,

Q1294296171 I
E X!

91334539617 %.

Question Number : 44 Question Id : 91394324496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A source of renewable power which can be developed with minimum cost is :
Options:
91394396173, 'V ind mills

Tidal power
91394396174,

Geothermal enerovy
91394396175, J

Biomass power
91394396176

Question Number : 44 Question Id : 91394324496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FATEHIOE ot o1 B Tord =[Aq9 &rTad 9 fashtaa fan < 9 © ¢

fae THew

91334596173,

CAEECIG I CH
91294395174,

B913345396175. I R iﬁl El l



AETET qrar

913345396176,

Question Number : 45 Question Id : 91394324497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Natural vegetation of an area needs to be preserved for the future, mainly for the purpose

of :
Options:

i iNg SOi )SI0
130430817, 1 rEVENting soil erosion

— Providing habitat for birds

Studyv by scientists
91394396179, "

I-‘mviding material for breeding new species
91394396180,

Question Number : 45 Question Id : 91394324497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol & 1 Ui faes aeafd =1 gera: Fefated 8§ 9 f59 vamsm 9 vfas & fau gfafaa fee s
i STETIHA & 2

Options:

el 3THET ol U & foau

913345396177,

| qferi & fau 3em™ Yo %1 & foau

91234596178

SR gRT S1eAE % feu

2153942368179

| T2 FSfdal 391 & & U 9l Suasy A & fau

215394236180

Question Number : 46 Question Id : 91394324498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The National Knowledge Commission (NKC) was established in which year ?

Options:

91334596181, 1998



91334596182, 2000

") =
21594296185, 2005

2007

2915394236184,

Question Number : 46 Question Id : 91394324498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T T ST (TA.F.H1.) ol w410 fo6g o9 g8 41 ?

Options:

19¢C
91334596181, 1998

H13345396182. 2000

g
a1394396183. 2002

913345961854, 2007

Question Number : 47 Question Id : 91394324499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year Education Commission under the Chairmanship of Dr. D.S. Kothari was set
up ?

Options:

T
91394396185, 1292

i
91394398186, 1999

123345396187, 1960

2915334236185, 1964

Question Number : 47 Question Id : 91394324499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
1. SI.UH. HISHT =1 SeAeqdl H e ST 61 T fohy = g2 off ?

Options:



] 2
2915394236185, 1952

91334596156, 1955

913345396187, 1960

1964
91394396188,

Question Number : 48 Question Id : 91394324500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was launched in 2013 with the purpose to provide strategic funding
to eligible state higher educational institutions ?

Options:

nsmns All India Council for Technical Education

91394396190, Sarva Shiksha ;’—th[}- an

S SRS Rashtriya Uchchatar Shiksha Abhiyan

Rashtriva Madhvamik Shiksha Abhivan
91394396192, 2 : 2

Question Number : 48 Question Id : 91394324500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Téeh U= Toreqor Teen =1 WHTas g 9e@ &3 & 3299 9 94 2013 § fr=afatag § 9 g
YIYRY feam T ?

Options:

AT IRATT dFAreh! 19187 gRug

91334596159,

91394396190, EERNGINCIRRIE

T =gl o1eqr A9

2915394236191,

T HiegHe T91e Afva™

9133453961 3%. >

Question Number : 49 Question Id : 91394324501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The University Grants Commission (UGC) was formally inaugurated on 28 December 1953
by whom among the following ?

Options:

91394396193, Mrs. Indira Gandhi

91394396194 Sh. Maulana Abul Kalam Azad

91394395105 LT+ . Radhakrishnan

1 ot T g
91394396 196, Dr. Rajendra Prasad

Question Number : 49 Question Id : 91394324501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
28 femmer 1953 1 favafaae™ sHeA s (FS1HL) o1 =i 3gued fqefataa § 4
[ERE-RCIRIE

Options:

- et g TiTedt

91334596193

1 AT S ™ 3TTSTe

2153394236154

91394395195, sl @8 1 ”3 |

S 'Y

Sl Usi= HHIg

H1334596196.

Question Number : 50 Question Id : 91394324502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The University Grants Commission has a scheme for “Human Rights and Values in
Eduaction”. Under this scheme, which statement is incorrect among the following for
‘Human Rights and Duties Education” component ?

Options:
To encourage research activities.
91394396197.
a1za4z95105 1O develop interaction between society and educational institutions.

s 1o establish value and wellness centres in schools.



61394396200 To sensitize the citizens so that the norms and values of human rights are realised.

Question Number : 50 Question Id : 91394324502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
favafaare™ s9eM M § ¢ e # AFafysR SR qeg’’ AWe @6 1 TH W % Sidd
“grenfaeR 3R Feed fen’! deee & el ¥ -1 HYd Ted 8 2

Options:
I T 1 Sral ST |
913943936197, 2
AT 3R 91870 el o sif9 R Hare fastad &)
91394296198,
faamedl § gou IR waren fafeaan w2l o1 TT9A1 |
91394296199,
ARTERT o SITEeh oM difeh HHam g o Tfaar it gedi o1 S9am foan s g |
913943396200
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Question Number : 51 Question Id : 91394324503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Dhyanam Nirvishayam Manah’ is related to
Options:

91394396201, LropmaSutra

Sankhya Sutra
91394396202,

Nyaya Sutra
91334336203,

Yoga Sutra
913245396204,

Question Number : 51 Question Id : 91394324503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘e e o= o gy 2
Options:

e °
91394396201

Hiead |
91394396202,

=TI °
91394396203,

ArTEE °

913345396204,

Question Number : 52 Question Id : 91394324504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Suryachandramasoryogo Jeevatmparmatmanoh’ is described in the following :
Options:
912943968205, Maitrayanyupanishada

Kathopanishada
91394396206,

Yogashikhopanishada
91334336207,



Kaivalyopanishada
91394396208,

Question Number : 52 Question Id : 91394324504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“atargmatai sarerawmrest:’ s quiq Prefeofaa 3 2

Options:

91324336205, ﬂﬁTﬂ'ﬂ‘gﬂ'ﬁﬁq
91394336206, mﬁqﬁ'
91324336207, ﬁﬁm
91334336208, m

Question Number : 53 Question Id : 91394324505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Ishopanishad, when does the Sadhak become free from sorrow and
attachment ?

Options:

Feeling kindnezs towards all creatures
913345396209,

Love to all human beings
91334596210,

Compassion towards all human beings
912334596211,

Feeling of Atmabhava towards all creatures
1334539621 %.

Question Number : 53 Question Id : 91394324505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
$Aafeg % AR, WTaw % e o Gre WEd g S g 2

Options:

oa Tt & ufa g W &
91394396209,



Ha T W W W
91394396210,

] * ufe =% wET B
91394396211 ol

B913345396Z21%. Al 3 8

Question Number : 54 Question Id : 91394324506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which Upanishad states that through Vedantic knowledge and pure conscience, the Purush
gets liberated ?

Options:

Mundakopanishad
91324596212,

Prashnopanishad
91394396214,

Kathopanishad
91394396215,

Kenopanishad
91334336216,

Question Number : 54 Question Id : 91394324506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fore Fufireg & e man & fo ST 19 T9n Wg St ST TEY 31d § g & W & 2

Options:

qrssiafTg

215942962135,

Tty

91334596214,

2915334236215,

Hrafeg

B12334596216.

Question Number : 55 Question Id : 91394324507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Patanjali, ‘Dhyanheyastadvrittayah’ is related to



Options:

91394396217 Destruction of Pramanavritti

Destruction of Vikalpavritti
91334336218,

91394396219, Destruction of Nidravritt

91394306000, Destruction of Kleshvritti

Question Number : 55 Question Id : 91394324507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qAAfd & FTER “SAHRATEIggad: T B

Options:

B13845396217

9133453962158

B1234596219

2153942368220

seToTg - &
fespeagfa-am 2
frgrafaam @

oA

Question Number : 56 Question Id : 91394324508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Sir John Marshall the statue of the male God found in Mohenjo-daro is

Options:

91394396201, 1 our-faced

91394396220, 1 pree-faced

913943962203, 1 wo-laced

91394396004 Onefaced

Question Number : 56 Question Id : 91394324508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS AT % TGN Areeigs! § red Teaan 4 g &
Options:

Rkl

91334596221,

et

B1334596222.

B1334596223.

Tt

21594296224,

Question Number : 57 Question Id : 91394324509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The method to distract Klesha and Karma is
Options:

Ritambhara Prajna
91394396225,

Dharmamegha Samadhi
91334336226,

41394396557, Nirvitarka Samadhi

91394396225, | rvichara Samadhi

Question Number : 57 Question Id : 91394324509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ArreaTEn ¥ 9 +4 fgfy &1 3o 2

Options:

HART
B13345396225. .

215394236226,

13345396227,

B1334596228.



Question Number : 58 Question Id : 91394324510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Patanjali, what is the way to remove Antaraya and Vikshepa-Sahabhuwvah ?

Options:

Abhyasa-Vairagya
91334336229, Y &Y

Pranayama
91324596230,

Bhavana-Chatushtaya
91294396221,

Ektattvabhyasa
913343362352,

Question Number : 58 Question Id : 91394324510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wafd Tdufer % AN, F-aUd a97 fAge-aeye: Sl @ FE H I 7L 2

Options:

91394396229 AT
91394396230, AH
91304308231, S
91394396232, e

Question Number : 59 Question Id : 91394324511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Due to which reason does the body of a yogi net get in contact with water and mud ?

Options:
By conquering Prana Vayu
Q1594395253 Y q & ¥
By conguering Samana Vayu
Q129439652324 Y 1 & Y
By conquering Udana Vayu
Q1394396235 Y q & Y
By conquering Vyana Vayu

91334596236,



Question Number : 59 Question Id : 91394324511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o 9 U & It % wifl 1 g foe o @ g 2
Options:

I 9 WA '
91394396233, R

T 9T W &
91394396234

IEH 9 W °
91394396235,

S 9 W 8
91394396236,

Question Number : 60 Question Id : 91394324512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Gheranda Sambhita, the Kapalarandhra Dhauti is a type of which Dhauti
Options:
Dantadhauti
91394396237, o oonad

91394396235, —riddhauti

91394396239, ‘ ntardhauti

91394396240, Teclashedhana

Question Number : 60 Question Id : 91394324512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
RS Higdr & AN, wareey wif e dif « s g 2

Options:

2153942362357,

gadtfa

B1334596238.

21594296259, et



EGERILE]

91334596240,

Question Number : 61 Question Id : 91394324513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Siddhsiddhantpaddhati, what yields Sarvendriyajaya and Aharnidrajaya ?

Options:
Pratyahar
91394396241
91394396242, Loma
Niyama
913943962453,
91394396244, parana

Question Number : 61 Question Id : 91394324513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frgfagr=magh % rgan, wdfzae™ o1 sen-fgrem feas g e @ 2

Options:

TedTer o
21394296241,
21394296242, w3
21394296243, d
D1394296244, 8

Question Number : 62 Question Id : 91394324514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In Shiva Sambhita, how many main nadis are mentioned there including Chitra nadi ?
Options:

91334596245, 4

215334236246,



913345396247, 14

912334596248, 1

Question Number : 62 Question Id : 91394324514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fora i 3, Foe 1 e wea et B dean e @A TR 2

Options:

913345396245, 4

H1334539624E,

13345396247, 14

91334596248, 1

Question Number : 63 Question Id : 91394324515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Shatsampatti is related to

Options:

Ramayana
91334336249,

Yoga Sutra
91324596250,

91394396251, " edanta Darshan

Jain Philosophy
91324596252,

Question Number : 63 Question Id : 91394324515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ygEefH 1 Ty g
Options:

B12334596249. 3



A

91334596250,

I 53
91394396251 i

EERtiak)
91394396252, T

Question Number : 64 Question Id : 91394324516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Kundalini, Chakra, Nadi, etc. are related to which yoga 7
Options:
Rajayvoga
913942396253, Jayog

Hathayoga
913345336254,

Jnanayvoga
91324596255,

Karmayoga
91394396256,

Question Number : 64 Question Id : 91394324516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
goefedt, =%, Tt anfy fra @i & g geaf=m € 2

Options:

21594296255,

B1334596254.

H1334596255.

2153394236256,

Question Number : 65 Question Id : 91394324517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which vogi worked for reupliftment of Vedic religion ?

Options:



91394296257 Swami Vivekanand

Maharshi Dayanand Saraswati
B13345396258.

91394396259, [ abarshi Raman

91394396260, owamiRam

Question Number : 65 Question Id : 91394324517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferm aft 3 afge oot % qweum 7w fomn 2
Options:

ot faewr=g
91394396257,

7ef¥ gare gt
91394396258,

&l T

B1334596259.

B13345396260, ™

Question Number : 66 Question Id : 91394324518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Hathayoga Pradipika during the stage of Nishpatti, Vayu penetrates which
gland ?

Options:

Brahmagranthi
91334336261,

Rudragranthi
91324596262,

Vishnugranthi
1394396263,

Hridavagranthi
91394396264, Yagr

Question Number : 66 Question Id : 91394324518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394396261 T

B1334596262,

215942962635,

91394396264, "

Question Number : 67 Question Id : 91394324519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The length of Vastra-dhauti according to Hatharatnavali is

Options:

91394396265, 22 Hasta

_
91394396266, 10 Hasta

91394396267, 20 Hasta

91394396263, 10 Hlasta

Question Number : 67 Question Id : 91394324519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FSTATaE! & IR F6-witfa i &= 8
Options:
22
31394396265, b

1|-'
91394396266, 10 o0

20
B1334596267. &

16
B1334596265. &



Question Number : 68 Question Id : 91394324520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Hathapradeepika, which of the following nada appear at last stage of
Nadanusandhana 7

Options:

Meghgarjan, Samudragarjan, ete.
91Z94396269. ghean gan

Jharana, Ghanta, ete.
Q1394z396270,

Veena, Bhramargunjan, ete.
91394396271,

Dhol, Shankh, ete.
91Z94396272.

Question Number : 68 Question Id : 91394324520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
geudtfehrgam ArerayT % ifta = § whe g aret g Frefafas e sa g 0

Options:

BeTe, HHgTe a1
91394396269

AT, gy e
91394396270,

fron, wewieE anfy
91394396271,

3, vi@ Infe
Q12943965272

Question Number : 69 Question Id : 91394324521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which Kriya is best in Hathkriyas according to Swatmaram 7
Options:

91394396273, rataka

91394396074, Dot

91394396275, aul



91394396276, U

Question Number : 69 Question Id : 91394324521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TR % AR gafseadt § Sa-eh e g § 2
Options:

91334596273,

91334596274, e
B1334596275. A

H133459627E, A

Question Number : 70 Question Id : 91394324522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the human body the total number of spinal nerves are

Options:

30 pairs
21594236277,

31 pairs
F13943I6ETE.

32 pairs
91394396279,

33 pairs
2153942336280,

Question Number : 70 Question Id : 91394324522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
aa iR H wrgee dfaeRied i Fe den wrdt 2

Options:

13345396277,

21594296275,



B1334596279.

91334596280,

Question Number : 71 Question Id : 91394324523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following glands works as both exocrine and endocrine gland 7
Options:
913343362581, Thyroid

91394396282, ~rdrenal

91394396283, | Ancreas

Parathyroid
B13345962854.

Question Number : 71 Question Id : 91394324523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafaa ofmt 9 @ st o afeadt i siaardt of 41 % w9 4 %0 Feft 2 2
Options:

91334596281,

B1334596282.

H1334596283.

B13345396284.

Question Number : 72 Question Id : 91394324524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The percentage of plasma in human blood is about
Options:

_
91394396285, 0%



b5%

91394396286,
_

91394396287, 0%

91394396285, 00X

Question Number : 72 Question Id : 91394324524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

o1 T 3 e 1 SfeEE e gt 8

Options:

H1334596285.

91334596256,

15394236287,

B1334596288. 60%

Question Number : 73 Question Id : 91394324525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Sincatrial (SA) node is located in
Options:

Right atrium
91324596259,

91394396290, eitatrium

Right ventricle
91324596291,

91394396292, it ventricle

Question Number : 73 Question Id : 91394324525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
greArefeae (76.1,) e e e &

Options:



gifed arfers &
91394396289

arl Afe< o
91394396290,

gifg Frem &
91394396291

H13345962392, ™ 1

Question Number : 74 Question Id : 91394324526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Dendrites conduct nerve impulses

Options:

Away from cell body
91324596233,

91394396294, owardsaxon

Towards cell body
91334336235,

Away from axon
H13345962396,

Question Number : 74 Question Id : 91394324526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sgrse dfaeR el & W 8

Options:

R SR
91394396293,

vt i H

91334596294

H1334596235. o W i 3

T # g

B1334596236.

Question Number : 75 Question Id : 91394324527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hormones produced by Thymus gland play a key role in proliferation and maturation of

Options:

91394396297, ol

91394396205, oita cells

Alpha cells
91394396299,

91394396300, sewa cells

Question Number : 75 Question Id : 91394324527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
orgae U & wifaa gl o Fifiemedl % weem vl sftoeaar § weepf i fama § 2

Options:

B13345396297. a3

91394396298, 7 &

B1334596295, o

215394236200,

Question Number : 76 Question Id : 91394324528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Gheranda Samhita, Valita and Palita Nasha are the benefits of
Options:
Mandulki Mudr
91394396301, o owmitudna

91394396302, opechari Mudra

91394396303, | ahamudra

41394396304, Shaktichalini Mudra

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.



Question Number : 76 Question Id : 91394324528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

orvg wgan % Fgan, Jfed 9 ferm am e @ & 2

Options:
91594396301, w
it
213942962302, w
21394296203,
yifsanferht gz
9139429362304,

Note: For this question, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 77 Question Id : 91394324529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which asana is beneficial in Gulmaroga, according to Hatha Pradeepika 7

Options:
91394396305, Pashchimottanasana
91394396306, -lanurasana
Mayurasana
Q1394296207
Matsyendrasana
Q13942396308.

Question Number : 77 Question Id : 91394324529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ESUEITehT % FTER, T | HH-91 3TET A & ?

Options:
21394296205,
D12942IEZ0E,

REUE]

913345396207,



AT

B913345396208.

Question Number : 78 Question Id : 91394324530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Ayurveda, how many nanatmaja vikara oceur due to imbalance of Pitta dosha 7

Options:

H13345396209, 20

913345396210, 40

913345396311, 60

H13345396312. 80

Question Number : 78 Question Id : 91394324530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gde % AgEn, fie g % srbger 8 e Fmmers fasm g € 2

Options:

913345396209, 20

21594236310, 40

912334596211, 60

91334539631 %2. 80

Question Number : 79 Question Id : 91394324531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one is not included under the Triangle of Epidemiology 7
Options:

Agent factors
91394396313,

91394396314, 10St factors



91394396315, Tusk factors

9139439631, nvirenmental factors

Question Number : 79 Question Id : 91394324531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ufirefusttett & e o @ wfafea a2 2 2

Options:

T~ F

2159429632135,

B FIF

H13345396314.

2915334236315,

B913345396316.

Question Number : 80 Question Id : 91394324532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Distress” may not originate in the body by
Options:

High blood pressure
91394396317,

91394396315, A0

Pleasant thoughts
H13345396319.

91394396320, 1 Umer

Question Number : 80 Question Id : 91394324532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wih# “feea” frmd soa @ st g 2 2
Options:

913345396217, o= o



wH

91394396318,
gag faem @
91394396319,
& &
91394396320,

Question Number : 81 Question Id : 91394324533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Cranial bones are examples of

Options:
91394396321, orortbones
91394396322, | atbones
Irregular bones
91394396323,
Long bones
91394396324,

Question Number : 81 Question Id : 91394324533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

el TfErt JeTae
Options:
91394396321, o e %
91394396322, & s %
TS ad et %
91394396323,
91394396324, vt srfet %

Question Number : 82 Question Id : 91394324534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The causative factor for Gouty Arthritis is

Options:



Increased serum uric acid

91394396325.
91394396326, | nereased blood urea
91394306307, |nereased serum creatinine
91394396325, Theumatic factor

Question Number : 82 Question Id : 91394324534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

mradt angtzfea = Fwor 2

Options:

i gfis Ufirg %1 w@
91394396325,

scte gftan &1 @
91394396326, i

Hrm ferufefim = aqm
91394396327 i

wagHfeH et
91394396328,

Question Number : 83 Question Id : 91394324535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Secretions of endoerine glands are called

Options:

Enzymes
91394396329,

Peptides
91394396330,
91394396331 Neurotransmitters
9139439633, lormones

Question Number : 83 Question Id : 91394324535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



st uf=Et § g S1et Jral el AT 8
Options:

91394396329, )

EEEC)

913345396330,

91334596221,

LEIs:

B13345962332.

Question Number : 84 Question Id : 91394324536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Antigen is a chemical substance which initiates the production of
Options:

91394396333, Lormones

91394396334, ntibodies

41394396335, Neurotransmitters

Peptides
91334336336,

Question Number : 84 Question Id : 91394324536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U T T Tarates werd # frees s Ieare g @

Options:

gt

91334596253

ufeeaidt &

2153394236354,

H12334596235.

YCeTEE

H1334596236.



Question Number : 85 Question Id : 91394324537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

All synovial joints are

Options:
91394396337, |mmevable
Partially movable
91394396338,
Freely movable
91334336339,
Sliding only
913245396340,

Question Number : 85 Question Id : 91394324537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aft ftfeae ofeat &
Options:
21394296237,
91394296338,
913942936339,
9139429362340,

Question Number : 86 Question Id : 91394324538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Meditation releases the stress by

Options:
Increasing oxygen consumption
91394396341, B OXVE P
Increasing heart rate
215394336342
Decreasing alpha brain waves emission
2159423632435,

Decreasin mpathetic nervous activi
A13943298344, § symp &



Question Number : 86 Question Id : 91394324538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
€1, T19 it fr wfshan gro werar & 2

Options:

Hie = 1 ITHIT FER
91394396341

&g T FE
91394396342,

i & 7! O 1 FEHT HTH
91394396343,

et ahrfra fman it wer
91394396344

Question Number : 87 Question Id : 91394324539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Angina pectoris involves pain in the chest, which is related to
Options:

Increased coronary circulation
913343365345,

Decreased coronary circulation
91324596346,

Muscular pain in the chest
913943963547,

91394396345, 1 20 In theribs

Question Number : 87 Question Id : 91394324539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e Yt T & g wew F ¢ A 2, S e 2

Options:

FIHL T TaT8 & A &
91394396345,

913345396246, R e A A

91394396347, 1 KA % -3 74



yafei 4 74 @
91394396348

Question Number : 88 Question Id : 91394324540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following does nof belong to directional method of yoga teaching ?
Options:

91394396349, ecture

91394396350, 1 ractice

91394396351, emonstration

Group discussion
91324596352,

Question Number : 88 Question Id : 91394324540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiga o & Sh-a1 & 9 % svamE 6t B fafa @ geafia 78 22

Options:

B913345962349.

91334596250,

91334596251,

==t
91394396352, e

Question Number : 89 Question Id : 91394324541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Pranayama is related to
Options:

Pseyehe onl
Q1294395353 = Y

Body only
91394396354,



Mind only
91394396355,

Both body and mind
91334336356,

Question Number : 89 Question Id : 91394324541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

O] 1 TFa-Y &
Options:
91394396353, e w3
91394396354, et R R
91394396355, T ik
i R A B &
91394396356,

Question Number : 90 Question Id : 91394324542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For a large group of students in a yoga class one convenient sitting arrangement should
include

Options:

Circular sitting for students
91334596357,

U-shaped sitting for students
91394396358, ped g

Double row with space in between without dais for the teacher
91334336359,

Double row with space and with a dais for the teacher
91324596360,

Question Number : 90 Question Id : 91394324542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AN FE1 H B % Uk T8 WG + A4 glaarss sgavn § afeifeaq R s =i
Options:

STl 1 FATHR T H 1
91394396357,



@l 1 -3l | d3

91394396353,
gt aferr & far sfawre & it firerss 2 < & femn
91394396359,
& uferet # famn atawre % ofit frers ¥ =/ % @y
91394396360,

Sub-Section Number: 2
Sub-Section 1d: 9139431311
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 91394324543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Shravan Upanga’ is related to
(1) Karma Yoga
(iiy Jnana Yoga
(iii) Bhakti Yoga
(iv) Mantra Yoga

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) are correct.
91394398361,

(ii) and (iii) are correct.
G1Z94396362.

(iii) and (iv) are correct.
91394398363,

(i) and (iv) are correct.
G1Z94396364,

Question Number : 91 Question Id : 91394324543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“srau IAMT I draY B

(i) wHET R

(i) FEEH

(iii) Wi &

I ECINE:]

e fou e g | & Tt 3w gfh
E:
Options:
91394396361, (@) S (i) T %
91394396362, (i) R (i) Tt § |
91394396363, (i) S (iv) 7 &
91394396364, @ 3 i) T E |

Question Number : 92 Question Id : 91394324544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are obstacles in yoga sadhana ?
(i) Sahasa

(ii)  Utsaha

(iii) Prayasa

(iv)  Prajalpa

Choose the correct answer from the code given below :
Code :

Options:

(i) and (iii) are correct.
Q1394395365

(1) and (ii) are correct.
A1 2943298366,

(iii) and (iv) are correct.
Q1394396367

(i) and (iv) are correct.
Q1=29429628E,



Question Number : 92 Question Id : 91394324544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i gran 4 Frefafas & & S99 sata 8 2
(i) wTEE

(i) IR

(i) wETE

(iv) eeq

3 o e e @ W A P
% :

Options:

91394396365, 3R (i) T E |
91394396366, AMaTaE
91394396367, AR ) T E
91394396368, AR ) T E

Question Number : 93 Question Id : 91394324545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Jain philosophy’s scripture Tattvarth Sutra, types of Dhyan are

(i)  Sukshma Dhyana
(ii) Aarta Dhyana
(iii) Jyoti Dhyana

(iv) Raudra Dhyana

Choose the correct answer from the code given below :

Code :
Options:
(1) and (ii) are correct.
913943968369,
(ii) and (iii) are correct.
9132943968370,

(ii) and (iv) are correct.
913943292371,



(iii) and (iv) are correct.
A1 394398372,

Question Number : 93 Question Id : 91394324545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

3 29 % ey avanelgd % TGN, S F T

() gETEN
(ii) TeEE™
(iii) wEtferea™
(iv) fgem
Her fow o e # & wdt I g
E T4
Options:

(i) 3T (i |
91394396369, i) 7 &
91394396370. (i) e (i) 7 & |
91394396371, (i) 3R ) T E |
91394396372 W R )T E |

Question Number : 94 Question Id : 91394324546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ashtanga Yoga's description is found in
(i)  Patanjal Yoga Sutra
(ii) Rudrayamal Tantra
(iii) Sharda Tilak

(iv) Brahma Sutra
Choose the correct answer from the code given below :
Code:

Options:

(i) and (iv) are correct.
A1 2943298373

(ii) and (iv) are correct.
Q1394396374



(1), (ii) and (iii) are correct.
Q1594396375

(i1}, (iii) and (iv) are correct.
Q1594395376

Question Number : 94 Question Id : 91394324546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FreerTanT i 9 frerar @

(i) OTasse qrEE §

(i) FgATHe o |

(ili)  rETfae §

(iv) wega &

F= fu T e # & w3 9P
F2:

Options:

(i) 3 (iv |
91394396373, } ) wh &

(i) 3 (i |
91394396374 iv) 78 &

(1), (i) 3 (iid) |
91394396375, w e

(ii), (iii) 3 (iv) |
91394396376, wa e

Question Number : 95 Question Id : 91394324547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Ubhau tau na vijanito nayam hanti na hanyate.” This statement belongs to

(i) Kathopanishad
(ii) Prashnopanishad
(iii) Bhagvadgeeta
(iv) Mundakopanishad
Choose the correct answer from the code given below :
Code :
Options:

(i) and (ii) are correct.
Q1394298277



(ii) and (iv) are correct.

A1 3943298378,

(1) and (iii) are correct.
A13942983279,

(iii) and (iv) are correct.
91394292280,

Question Number : 95 Question Id : 91394324547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“aut ot 7 faerfiat @ g = g 17 9% wue TeE & 2

(i) =g
(i)  werafg
(i) wWrEgan
(iv) Hvehafieg
A3 iy TR § 4 T SRR
% :
Options:
(i) 3T (i |
91394396377, ¥ i) 7 &
91394396378, (i) 3R ) T E |
(i) 3 (i |
91394396379 ¥ i) 7 &
{-1" m{w |
91394396380, ) iv) 78 &

Question Number : 96 Question Id : 91394324548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Hatha Yoga Pradeepika, which practices are beneficial in wrinkles and
greying of hair ?

(i) Mahamudra
(iiy Mahabandha Mudra
(iii) Viparitkarani Mudra

(iv) Mahawvedha Mudra

Choose the correct answer from the code given below :
Code :

Options:



(1) and (ii) are correct.
91394292281,

(ii) and (iii) are correct.
Q13942962 582.

(iii) and (iv) are correct.
91394292283,

(i) and (iv) are correct.
Q13943952 54.

Question Number : 96 Question Id : 91394324548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt wdifyert % srgan, fhash srama @ gftat 9 o1 v & O & e frear @ 2

(i) wEHg

(i) wEra-g qEl

(iii)  Ferftarpooft Hqgr

(iv) WaTaY HaT

e fw e e | & Tt Iw wt gfh
e

Options:

91394396381 0 3 @) T E |
91394396382, (i) MR i) T E |
91394306383, M w0
91394396384, M T

Question Number : 97 Question Id : 91394324549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Hatha Pradipika, which diseases occur due to vitiation of Vayu ?
(i)  Eye disease

(ii) Cough

(iii) Asthma

(iv) Indigestion

Choose the correct answer from the code given below :
Code :

Options:

(ii) and (iii) are correct.
Q13943953285

(1) and (ii) are correct.
9129432983286,

(iii) and (iv) are correct.
Q1 3943953287.

(i) and (iv) are correct.
Q1=29429628E,

Question Number : 97 Question Id : 91394324549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

geudRHER va-ufd g S8 Tt g § 7
W =i

(i) sHrEEm

(ili)  yaTEn

(iv) 3ol T

fr= fau e g A @ wd I R g
He:

Options:

(i) 3 (i |
91394396385, i) 7 &

(i) 3t (ii I
91394396336, i) T §

(iii) #H (i I
91394396357, 0 iv) 78 §

(i) 3 (iv |
91394396388, } w g



Question Number : 98 Question Id : 91394324550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Gherand Samhita, the result of Pratyahara are

(i) Conguering on soul
(ii) Destruction of Kamadi enemies
(iii) Control over mind

(iv) Control over vritties

Choose the correct answer from the code given below :

Code :
Options:
(i) and (iv) are correct.
Q15942396359
(ii) and (iv) are correct.
Q1=294395290,
(ii) and (iii) are correct.
Q15942963291
(i) and (iii) are correct.
Q12943953292

Question Number : 98 Question Id : 91394324550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sve HigdTIan, ermer % g #
(i) e w faa

(i) rIfe gl w5 A

(iii) ¥ % I H FE

(iv) dferai =t Frafia %o

Fr=r fu o e F @ vt I H g
He:

Options:

(i) 3 (iv |
91394396389, } w g

(ii) 3 (iv |
91394396390, ) )T

(ii) ¥ (iii |
91394396391, ) T e



(i) 3 (i |
91394396392, } ) w &

Question Number : 99 Question Id : 91394324551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Hathapradeepika, as a result of Brahmagranthibhedan the Sadhaka becomes

(i) Ojaswi
(ii}  Disease free
(iii) Wise

(iv) Good-natured

Choose the correct answer from the code given below :

Code :

Options:

(1) and (ii) are correct.
Q1=E2943953293

(ii) and (iii) are correct.
A1=294296294,

(iii) and (iv) are correct.
Q1=2943953295,

(i) and (iv) are correct.
A1=29429629E,

Question Number : 99 Question Id : 91394324551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gewdifieht % a1En, wemf-deT & arae a7 8
) o

() e

(i) gfgam

(iv) @

Fr=r fu o e F @ vt I H g
He:
Options:

(i) 3t (i |
91394396393, ) ) g

(ii) ¥ (iii |
91394396394, ) T e



(iii) 31T (iv |
91394396395, } )

(i) 3 (iv |
91394396396, } ) wh &

Question Number : 100 Question Id : 91394324552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are not the lymphatic tissues ?
(i)  Adrenal gland

(ii) Thyroid gland

(iii) Tonsils
(iv) Spleen
Choose the correct answer from the code given below :
Code :
Options:
(i) and (iii) are correct.
Q1394396397
(ii) and (iv) are correct.
91294395398,
(i) and (ii) are correct.
91394396399,
(iii) and (iv) are correct.
Q1294295400

Question Number : 100 Question Id : 91394324552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prfafia & & $9-8 witem sas 78 £ 7
() o (srfaga) 7

(i) wraaE (sree) ufa

(iii)  effae

(iv) ®Ie (o)

fr= fow e 5 7 F Tt I g
He:

Options:

(i) 3 (iii |
91394396397, ) ) §



(ii) 3 (iv |
91394396398, ) T e

(i) 31T (id |
91394396399, } ) §

(iii) 31T (iv |
91394396400, } ) §

Question Number : 101 Question Id ;: 91394324553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a vegetarian diet, the major sources of proteins are

(i)  vegetables
(i)  fruits
(iii) pulses

(iv) cereals

Choose the correct answer from the code given below :

Code :
Options:

(1) and (ii) are correct.
913943295401 .

(iii) and (iv) are correct.
Q1294296402

(ii) and (iv) are correct.
913943292402,

(1) and (iii) are correct.
Q1394295404

Question Number : 101 Question Id : 91394324553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

smrererdt Yiem § 9 % wq@ Gid #
(i) wfert

(i) wA

(i) g

(iv) &

fr= fow o e # & vt I g
w2

Options:



(i) 31 (id |
91394296401, } w8

(iii) 31T (iv |
91394396402, } ) §

(ii) 3 (iv |
91394396403, ) @

(i) 3 (i |
91394396404 i) 7 &

Question Number : 102 Question Id : 91394324554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In Depression, which of the following yogic practices are prohibited ?

(i) Shavasana
(ii) Suryabhedi Pranayama
(iii) Kapalbhati Kriya
(iv) Bhramari Pranayama
Choose the correct answer from the code given below :
Code :
Options:

(ii) and (iii) are correct.
913943968405,

(i) and (ii) are correct.
913294396408,

(i) and (iv) are correct.
913943968407,

(iii) and (iv) are correct.
91294398408,

Question Number : 102 Question Id : 91394324554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frefafaa 9 @ 174t ditfire frard smarg @ g 2 2

(i) EEe
(i) FAE o™

(iii)  =Harerrfa e

(iv) v smomaT

Hre fou o e # | @t I w g
E‘:

Options:

91394396405, AR (i) T F |
91394396406, (i) 3 (i) 7 €
91394396407 @ 3 () T E |
91394396408 (i) 3 (iv) 7 €

Question Number : 103 Question Id : 91394324555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Gheranda Samhita, which of the following food items are Pathya ?
(i) Takra

(ii)  Ghrita

(ili) Navaneeta

(iv) Taila
Choose the correct answer from the code given below :
Code :
Options:
(i) and (ii) are correct.
215394236409
(ii) and (iii) are correct.
91394396410
(iii) and (iv) are correct.
215394236411,

(i) and (iv) are correct.
Q1294296412



Question Number : 103 Question Id : 91394324555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e wfgar & rgan, Fefafaa & @ $h-8 smen g v £ 2

(i) a@*
(i) o
(iii) =a-ra
(iv) o
3 fow o e @ Wl I A
TE‘:
Options:
(i) 3T (i |
91394396409, i) T §
{" 'aﬂt{"" |
91394396410, i) 7 &
91394396411, (i) 3 (iv) T § |
91394396412, @) 3R Gv) T § |

Question Number : 104 Question Id : 91394324556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which yogic practices have direct effect on Thyroid Gland ?

(1) Sarvangasana
(i) Naukasana
(iii) Jalandhara Bandha

(iv) Padahastasana

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii) are correct.
91394292412,

(1) and (iii) are correct.
Q1394295414

(ii) and (iii) are correct.
91394292415,



(ii) and (iv) are correct.
913943292416,

Question Number : 104 Question 1d : 91394324556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

formr A svearat o araaes ofFE o e wme v 8 2
(i) watTEa

(i) e

(iii) ST 79

(iv) TTEEETEA

= fau e e # & wdt I w9

He:

Options:

(i) 3T (i |
91394396413 ¥ i) 7 &

(i) 3 (i |
91394396414 ¥ i) 7 &

(ii) 3 i |
91394396415, i) 7 &

(ii) 3 (i |
91394396416, iv) 78 &

Question Number : 105 Question 1d : 91394324557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the causative factors for Type 11 Diabetes ?

(i) Stress
(ii) Relaxation through Meditation
(iii) Lack of Exercise

(iv) Autoimmune destruction of beta cells

Choose the correct answer from the code given below :
Code :

Options:

(i) and (iii) are correct.
Gl1394292417.

(i) and (iv) are correct.
Q139439641 8,



(ii) and (iv) are correct.
913943292419,

(iii) and (iv) are correct.
A1394295420,

Question Number : 105 Question Id : 91394324557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2159 11 srafadtsr % Frferfiaa & & @ @mo e & 2
() =

(i) eI % e & faanf=

(iii) =TS 6t FH

(iv) dfter ifirenrad o waufoedt am

3 foe o g2 § @ WA I R g
C T
Options:
912394396417, Y m}ﬂﬁl%
91394396418, h}aﬂI{w}E'é"I% l
91394396419, {u}laﬂifw}ﬂ'{l% l
9194296420, {m}ﬁt{w}@% l

Question Number : 106 Question Id : 91394324558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following rasas pacify Pitta dosha ?
(i)  Katu
(ii)  Tikta
(iii) Lavana
(iv) Kashaya

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii) are correct.
Q1394395421



(i) and (iii) are correct.
G1394392422.

(ii) and (iv) are correct.
Q1394295423

(iii) and (iv) are correct.
91394392424,

Question Number : 106 Question 1d : 91394324558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefafgada s w M s & 2

i e
(i) fowa
(i) =&
(iv) A
13 Ry Ty g # 8 W TR TP
E T4
Options:
(i) 3T (i |
91394396421 ¥ i) 7 &
(i) 3 (i |
91394396420 i) 7 &
91394396423, (i) ¥R ) T & |
91394396424 W A (v TR |

Question Number : 107 Question Id : 91394324559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Hathapradeepika, Mahamudra is beneficial in which diseases ?

(i) Insomnia

(ii)  Indigestion
(iii)  Skin disease
(iv) Shwasa Roga

Choose the correct answer from the code given below :
Code :

Options:



(1) and (ii) are correct.
913943968425,

(iii) and (iv) are correct.
913294396426,

(i) and (iv) are correct.
913943968427,

(ii) and (iii) are correct.
912943968428,

Question Number : 107 Question Id : 91394324559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gewetfent % w1ER, vamg for dafert & et 8 2

) s

(i) Srafrof

(i) = T

(iv) vamd T

Hi= feu e e & & wdt I w9

E:
Options:

(i) 3 (i |

91394396425, ) i) T §
91394396426, (i) 3 (iv) 7 €
91394396427, (@) 3R Gv) T |
91394396428, (i e (i) 7 & |

Question Number : 108 Question Id : 91394324560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of these practices are beneficial for value based education ?
(i)  Pranayama

(ii) Yama

(iii) Niyama

(iv) Shatkarma

Choose the correct answer from the code given below :
Code :

Options:

(i) and (ii) are correct.
Q1394395429

(iii) and (iv) are correct.
912943292430,

(i) and (iii) are correct.
Q1394395431

(i) and (iv) are correct.
Q1294296422

Question Number : 108 Question Id : 91394324560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T d -8 e qea snuriea Fien 6 frg et € 2
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Options:

91394396429, R (i) T R 1

91394396430, 0 A () TR |
{" \ﬂt{"" I

91394396431 i) 7 8
(i) 3T (iv) TET & |

2915342364352,



Question Number : 109 Question Id : 91394324561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Gheranda Samhita, which of the following food items are apathya ?

(1) Yava

(ii) Kulattha
(iii) Mudga
(iv) Tila
Choose the correct answer from the code given below :
Code :
Options:
(i) and (ii) are correct.
91:943964535.
(i) and (iii) are correct.
915942964354,
(ii) and (iv) are correct.
91>94396455.
(iii) and (iv) are correct.
215942396456,

Question Number : 109 Question Id : 91394324561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
trve digar % san, Frefafas 3 2 #h-8 smen goa s € 2
i =€

(i) Feied

(i) "I

(iv) o

Fr=r fu o e F @ vt I H g

He:

Options:

(i) 3t (i |
91394396433, } ) g

(i) 3 (iii |
91394396434, ) ) §

(ii) 3 (iv |
91394396435, ) T e



(iii) 31T (iv |
91394396436, } )

Question Number : 110 Question Id : 91394324562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following asanas are of backbending type ?
(i)  Uttanpadasana
(ii) Bhujangasana
(iii) Chakrasana
(iv) Sarvangasana

Choose the correct answer from the code given below :

Code :

Options:

(1) and (ii) are correct.
Q1=294395457

(iii) and (iv) are correct.
Q129423964 28,

(i) and (iv) are correct.
Q1=294395459

(ii) and (iii) are correct.
Q12942396440

Question Number : 110 Question Id : 91394324562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freffaa d @ shd s fS g aa & 2
(i) FAAIEEA

(i) eTE

(iii)  =hMEA

(iv) waEiTEa

fr= few e F & et I g

w2

Options:

(i) 3t (ii |
91394396437, i) T §

(iii) #H (i |
91394396438, D iv) 78 §



(i) 3 (iv |
91394396439, } w &

(ii) ¥ (i |
91394396440, ) T

Question Number : 111 Question Id : 91394324563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following asanas are of balancing type ?
(i) Vrikshasana

(i) Kukkutasana

(iii) Ardha-chandrasana

(iv) Garudasana

Choose the correct answer from the code given below :
Code :

Options:

(1), (ii) and (iii} are correct.
Q1594296447

(ii), (iii) and (iv) are correct.
Q1=294395442

(1), (ii) and (iv) are correct.
Q12943295443

(1), (iii) and (iv) are correct.
Q9139432904444

Question Number : 111 Question Id : 91394324563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prferfiaa & & #9-8 smE= Gqearers § 2
(i) IEEA

(i)  FHeEA

(i) Fd-=grE

(iv) TEgEA

F= fu T e # & v 3w 9P
F2:

Options:

(1), (i) 3 (iid) |
91394396441 w@ e



(ii), (iii) 31T (iv) FE 2 |

91394396442,
(1), (i) 31 (iv) |

91394396443, w e
(1), (iil) 3 (iv) |

91394396444, e

Question Number : 112 Question Id : 91394324564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Asanas are classified in which of the following categories ?
(i)  Meditative
(ii)  Relaxative
(iii)  Spiritual
(iv) Social
Choose the correct answer from the code given below :
Code :
Options:
(ii) and (iii) are correct.

21594236445,

(iii) and (iv) are correct.
Gl 394329c44E,

(i) and (iv) are correct.
Q1394296447

(1) and (ii) are correct.
91394395448,

Question Number : 112 Question 1d : 91394324564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) =TS
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Options:



(i) 3 (iii) FE & |

91394396445,
9139439644, WM MTRE
91394396447, VI TAE
91394306445, © MW TAE

Question Number : 113 Question Id : 91394324565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Academic teaching processes have the following components :

() Teaching

(i) Management
(i) Administration
(iv) Learning

Choose the correct answer from the code given below :

Code :

Options:

(i) and (iv) are correct.
91394398444,

(i) and (ii) are correct.
91zZ94296450,

(i) and (iii) are correct.
913494398451,

(ii) and (iii) are correct.
91Z94398452,

Question Number : 113 Question Id : 91394324565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 114 Question Id : 91394324566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Following points may help a yoga teacher in imparting his instructions properly in a yoga
class :

(i) Instructions should be short, slow and clear

(ii) Teacher should maintain distance with students
(iii) Several instructions should be given at a time
(iv) If required, instructions should be repeated

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii) are correct.
91394392452,

(1) and (iii) are correct.
Q1394295454

(i) and (iv) are correct.
Q913942392455

(iii) and (iv) are correct.
Q1394395456



Question Number : 114 Question Id : 91394324566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 115 Question Id : 91394324567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Characteristics of Personality include

(i)  Characteristic pattern of behaviour
(ii) Modes of thinking
(iii) Modes of action

(iv) Modes of environmental interaction

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii) are correct.
91Z943964E57.

(i) and (iii) are correct.
912943292458,

(i) and (iv) are correct.
Q1394395459



(iii) and (iv) are correct.
Q91 3943292460.

Question Number : 115 Question 1d : 91394324567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
(i) 3T (i |
91394396457 ¥ i) 7 &
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Question Number : 116 Question Id : 91394324568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In Lumbar Spondylosis which asanas are contraindicated 7

(i) Padahastasana
(ii) Bhujangasana
(iii) Ardha-chakrasana

(iv) Pawanmuktasana
Choose the correct answer from the code given below :
Code:

Options:

(ii) and (iii) are correct
Gl12ad4329c4de1.

(1) and (ii) are correct
Q1394396462



(iii) and (iv) are correct
913943292463,

(i) and (iv) are correct
Q1394296464

Question Number : 116 Question Id : 91394324568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A Wit J wb-a A g € 2
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(iv) TFEAHFATEA
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®e:
Options:
91394396461 1) i) 7 §
(i) 3 (i |
91394396462 ) i) T §
91394396463, i) iv) 7 §
(i) 31 (i |
91394396464, b iv) 78 &
Sub-Section Number: 3
Sub-Section Id: 9139431312
Question Shuffling Allowed : Yes

Question Number : 117 Question Id : 91394324569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one iz labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : A Bhaktiyogi has the feelings of love towards all creatures.

Reason (R) : A person who has the feelings of love, friendship, compassion and forgiveness
towards all creatures, is being loved by God.

Code :

Options:



Both (A) and (R) are true and (R) is the correct explanation of (A).
91394336465,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15294396456

(A) is true, but (R) is false.
B133453964E7.

(A) is false, but (R) is true.
91294396468,

Question Number : 117 Question Id : 91394324569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 118 Question 1d : 91394324570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one iz labelled az Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Five Yamas are considered as Mahavrata.

Reason (R) : Five Yamas (Mahavrata) could be practised by individuals of any class and
place, at any time of life.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394396469,



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594296470

(A) is true, but (R) is false.
Q1394395471

(A) is false, but (R) is true.
913345396472,

Question Number : 118 Question Id : 91394324570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 119 Question Id : 91394324571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : A major source of frustration is conflict between two opposite motives.

Reason (R) : When two motives conflict, the satisfaction of one leads to the frustration of the
other.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21594236473,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594290474



(A) is true, but (R) is false.
91394392475,

(A) is falzse, but (R) is true.
Q1294396476

Question Number : 119 Question 1d : 91394324571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr= 3t o fow e 8, o & v sfirpe (A) R of g@n 7% (R) 8 1 et i wfge ot e fig o
2§ 8 wdt 3w g |
iy (A) - 3 Faala stwai & o= dod Fva 1 e g g g |
T (R) : 7= g1 Jevdi & o= dod giar 3 of v 3y i wgfee et 8 9t gt IEv W FvSt w2
C T
Options:

(A) 3 (R) q9T (R), (A) i 98t =amEan & |
91394396473, o w & e &

(A) 3 (R) g1 @&t &, 9 (R), (A) i Gt =arem 76 § |
91394396474

(A) TH B, (R) Terd & |
Q1394290475 m

(A) T 8, Wg (R) @&t B |
91394396476,

Question Number : 120 Question Id : 91394324572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one iz labelled as Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Nadi shodhana is essential before the practice of Kumbhaka.

Reason (R) : Prana does not flow in impure nadis, so due to failure in achieving
Unmanibhava, the sadhana could not be completed.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394336477,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594395478

(A) is true, but (R) is false.
9123345396473,



(A) is falze, but (R) is true.
Q1594295450

Question Number : 120 Question Id : 91394324572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= 3w fou e 8, o & us e (A) @ 3 g@0 7% (R) R | el =it afen ol = fag mo
Fe ¥ & TE I g |

HTUFET (A) : FF4h o AT % Td AT M a7 2 |

% (R) : wegf arfeai & wmon =6t warg 781 g, rad sftra 6 wifta 7 519 % oo gmean gof =&
gl 2 |

C T

Options:

(A) 3T (R) 9T (R), (A) i T8t =amEan |
Q12394296477 fl’ﬁﬂ'lﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394396478,

(A) @& &, T0d (R) Terd & |
91394396479,

(A) T 8, Wg (R) @&t B |
91394396480.

Question Number : 121 Question Id : 91394324573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one iz labelled as Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Mitahara is advised for a yoga practitioner.

Reason (R) : Mitahara means to keep the one-third part of stomach empty, which is helpful
in yoga sadhana.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394296451,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1=294395452,

(A) is true, but (R) is false.
H133453964E3.

(A) is falze, but (R) is true.
Q915942904844



Question Number : 121 Question Id : 91394324573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= 3 A fe e B, i & o arfirshea (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o
e § 8 wdt 3w g |

Flrwe (A) - g sreret % fer firaren &1 gegma fam sman 2

e (R) : firamer =1 @1df gran @ ve-feerd g =6t w@reft wan, <t 9 gran d SRS B #

C T
Options:

(A) 3T (R) 4T (R), (A) i T8t =T & |
91394396481, o & = b

(A) 3itt (R) 3T wdt &, 9t (R), (A) it wet samea 78 & |
91394396482,

(A) T 2, 9 (R) Terd 2 |
91394396483

(A) T 8, Wg (R) H&t 7 |
Q12942964484

Question Number : 122 Question Id ;: 91394324574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one iz labelled as Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Pranayama is essential before the practice of Dharana.

Reason (R) : Practice of Pranayama leads to removal of coverings over light of satva and
mind becomes able to perform Dharana.

Code :
Options:

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594296455

Both (A) and (R) are true and (R) is the correct explanation of (A).
291394296486,

(A) is true, but (R) is false.
Q1=294395457 .

(A) is false, but (R) is true.
Q91594290488

Question Number : 122 Question Id : 91394324574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
e # 8 Tt I g |
SFET (A) : TR % ATH & qd HIOTETH G0 § |
% (R) : WIOTAITY % 3719 © e o Wehr9l ol TG0 & & ATGT & 9UT I 9O % 979 8 S |
% :

Options:

(A) 3R (R) 31 &t €, WG (R), (A) < Tt =amen 3 & |
91394396485,

(A) 3 (R) q9T (R), (A) i 98t =amEan & |
91394396486, o w & e &

(A) F# B, 9 (R) Terd & |
91394396487,

(A) T B, (R)T&E 2|
Q13942904 8E, "T{ﬁ

Question Number : 123 Question Id : 91394324575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Pranayamic practices are very different in purpose and technigue from the
other breathing exercises.

Reason (R) : The nature of yogic practices is varied and involves different mechanisms
through which the results of particular vogic practices are obtained.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942936459,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294395490

(A) is true, but (R) is false.
Q12942396491 .

(A) is falze, but (R) is true.
Q15943954592

Question Number : 123 Question 1d : 91394324575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= 3t wum fo e 8, T @ atfirem (A) R o g 9% (R) @ | et =t afge ofk e feg e
e # 8 Tt I g |

3firRe (A) : G- Ud L9 o AU T ITETH & IGE H-9 7984 Fgrat & gaun fym g 8
7% (R) : ameara 6yl fafia v &t gt @ off saeht fafis weem <t frefafirt gro fed weem
& grmegrat & aftomg e foe wmd €

% :
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394396489, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394396490,

(A) T8 B, T (R) Teid 2 |
91394396491,

(A) T &, WG (R) &t 2
91394396492,

Question Number : 124 Question 1d : 91394324576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : 1t is desirable that the teacher himself should give the demonstration of a
particular yoga practice.

Reason (R) : The teacher can communicate with his students better through the
demonstration staged by him.

Code :
Options:

Both (A) and (R) are true and (R) iz the correct explanation of (A).
215394236493,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594396454,

(A) is true, but (R) is false.
91394395495,

(A) is falzse, but (R) is true.
Q1=29439549E,

Question Number : 124 Question Id : 91394324576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
e # 8 Tt I g |

3firre (A) - T % s 49w &1 vgyR s ferss gro T w0 aeE s &

o (R) : T4 & 9eaA grr fneres ferenfifat & o & o darg o+ oot £ |

% :
Options:
(A) # (R) 9T (R), (A) 1 #at =gmean & |
91394396493, = wdl ¢
(A) 3 (R) 31 @&l 8, Tq (R), (A) A w&t sqre 78 2 |
91394396494,
(A) F# B, 9 (R) Terd & |
91394396495
(A) T B, (R)FE 2 |
91394396496, g
Sub-Section Number: 4
Sub-Section 1d: 9139431313
Question Shuffling Allowed : Yes

Question Number : 125 Question Id : 91394324577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Siddha Siddhanta Paddhati, arrange the following Chakras in ascending
order :

(i) Aakash Chakra
(ii) Kantha Chakra
(iii) Bhru Chakra
(iv) Nirvana Chakra
(v) Talu Chakra

Choose the correct answer from the code given below :
Code:
Options:

(1), (i), (ii), (iv), (v)
91594296437,

(i), (w), (iv), (i), (iii)
91334296435,

(1), (w), (1ii), (iv), (1)
91234236439,



(1), (11, (iv), (1), (v)
91334536500,

Question Number : 125 Question Id : 91394324577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
firg fargra wgfa % sigar, fefafan =i # i s § sqafen Hif -
(i)  HTHET =56
(i) =S =sh
(iii) ¥ =
(iv) Frafor =%
(v) T =

fr= fow o e A & wdlt I+ g
Hhe:
Options:

(1), (i), (ii), (iv), (v)
9133453964397,

(ii), (w), (iw), (1), (iii)
A1394396498.

(1), (w), (i), (iv), (1)
913345964545,

(1ii), (i), (iv), (1), (v)
2123345396500,

Question Number : 126 Question Id : 91394324578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the technique of Laghu Shankhaprakshalana, arrange the following asanas in
sequential order :

(i)  Tiryaka Tadasana

(ii) Tadasana

(iii) Tiryaka Bhujangasana
(iv) Udarakarshanasana

(v) Kati Chakrasana
Choose the correct answer from the code given below :
Code :

Options:

(1), (11), (1), (v), (1v)
91334596501,



(1), (ii), (w), (iii), (iv)
913345396502,

(11, (1), (i), (v, (iv)
Q1294395503

(1n), (1), (w), (1ii), (iv)
9123345396504,

Question Number : 126 Question Id : 91394324578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
&Y TEvETe i ToArs 5 Frefefas smaAt it 3faa w § saafem $ifa
(i)  forde areTER

(i)  drgrE-

(i) forde yommEm
(iv)  IETrHdumEs

(v)  ohie TehrEe

e fw e e | & Tt Iw wt gfh
e
Options:

(1), (11), (1), (v), (1v)
91334596501,

(1), (ii), (v), (iii), (iv)
9123345396502,

(i), (1), (iii), (w), (iv)
Q1=294295503,

(11, (i), (w), (iii), (iv)
Q1594296504

Question Number : 127 Question Id : 91394324579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following activities in sequential order in terms of increasing energy
expenditure (calories per hour) :

(i)  Running

(i) Walking

(iii) Swimming

(iv) Walking upstairs

Choose the correct answer from the code given below :
Code :



Options:

(1), (1), (i), (iv)
H13345396505.

(iii), (i), (iv), (1)
913345396506,

(i), (1), (i), (1)
91334536507,

(1), (i), (1ii), (iv)
2913345396508,

Question Number : 127 Question Id : 91394324579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafeafiga frmnett =t Fof-saa (Sl oft ge) % g0 gu n # saaftug fifag

(i) gt
(i) e
(il) T
(iv) Hitfeat =g
fr= o o e & & Tt I+ g
E:
Options:
(i), (iid), (1), (iv)
91394396505,
(id), (ii), (iv), (i)
91394396506,
(iv), (iid), (ii), (i)
91394396507,
(i), (iD), (iid), (iv)
91394396508,

Sub-Section Number: 5
Sub-Section 1d: 9139431314
Question Shuffling Allowed : Yes

Question Number : 128 Question Id : 91394324580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List II and choose the correct answer from the code given below.

List I List 11
(a) Avidya (i) Yama
(b) Styan (ii) Klesh
() Aparigraha (iii) Bhawana
(d) Daurmanasya (iv) Antaraya
(e) Karuna (v) Sahabhuvah
Code :
Options:
(a)—(iv), (b)—(iii), (e)—(wv), (d)—(i), (e)—(ii)
912394396509,
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv), (e)—v)
91394296510,
(a)—(iii), (b)), (e)(ii), (d)—w), (e)—(iv)
291394296511,
(a)(ii), (b)—(iv), (e)~(i), (d)—(w), (e)—(iii)
91394396512,

Question Number : 128 Question Id : 91394324580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gafaa Fifsw it i fge 7o 5e 4 9 a8 33+t gfe .

eI T 1T
(a) Afeamm (i) 49
(b) AN (i) el
(¢) amafars (iii) =T
(d) < (iv) FH=aT™
(e) &I (v) Heyd:
E‘:
Options:
(a)—(iv), (b)—(iil), (e)~(v), (d)—(i), (e)—(ii)
91394396509,
(a)—(i), (h)—(ii), (e)(iii), (d)—(iv), (e)(v)
91394396510,
(a)—(iii), (b)—(i), (e)—(iD), (d)—(v), (e)~(iv)
91394396511,
(a)—(i), (b)—(iv), (e)—(1), (d)—(v), (e)—(iii)
91394396512,

Question Number : 129 Question Id : 91394324581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Mateh List I with List II according to Shiv Samhita, and choose the correct answer from the
code given below.

List I List IT
(Upaprana) (Function)

(a) Naga (i) Hunger-Thirst

(b) Devdutta (ii) Blinking of Eyelids

(e) Dhananjaya (iii) Yawning

(d) Krikara (iv) Hieccup

(e} Kurma (v) Belching

Code:

Options:

(a)—(i), (b)—(iv), (e)(iii), (d)—(v), (e)—(ii)
91394336513

(a)—(ii), (b)iid), (e)~(v), (d)-(i), (e)iv)
91394396514,

(a)(iii), (h)—(ii), (e)—(iv), (d)—(v), (e)—i)
91394396515,

(a)—(v), (b)—(iid), (e)—~(iv), (d)—~(D), (e)—(ii)
91394396516,

Question Number : 129 Question Id : 91394324581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Praafeargam, g=ht [+t gt 11 & gafaa $ifi it fi= e g o @ o s g

q\iﬁ] 'q\%ﬁ‘]]
(3awoT) (=)
(@) M ()
(b) Tagd (ii)  TeTeh- ST
(c) w9 (iii) T
(d) F (iv) fe=et
(e) F (v) S&H
C T
Options:
91394396513 AW (W), (e)~(iii), (d)~(v), (e)—(i)
1394396514 2D (b)), (©~(v), (D), (e}-(iv)

(a)—(iii), (b)—(id), (e)~(iv), (d)—(v), (e)—(i)
2915334236515,



(a)—(v), (b)—iil), (e)—(iv), (d)—1), (e)—ii)
91234336516,

Question Number : 130 Question Id : 91394324582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List 11 according to Gherand Samhita and choose the correct answer from
the code given below.

List I List IT
(a) Shatkarma (i) Firmness
(b) Pranayama (ii) Steadiness
() Asana (iii) Lightness
(d) Mudra (iv) Purification
Code :
Options:
{a)—ii), (b)—(iii), (e)-{iv), (d)—(i)
Q1=a4296517.
(a)—(iii), (h)—(iv), (e)—=(i), (d)—(ii)
Q1294395515
(a)—iv), (h)—(iii), (e)—(i), (d)—(ii)
Q1394295519
(a)—i), (b)—(ii), (e)—(iii), (d)—(iv)
Q1594296520

Question Number : 130 Question Id : 91394324582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

v wfan % aran g 1 g 11 8 gifea Aifvg ot = Be o g § @ a8 s i

el T I
(a) e (i) gear
(b) STOTTETH (i) o
(e) HATEA (iii) =T
(d g (iv) W
He:
Options:
91394396517 At (b)), (}=(iv), (d)~(D)
9139439651, @D (B)=¥), (D), (D)D)

(a)—iv), (b)—(iii), (e)—i), (d)—(ii)
H13345396519.



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334336520,

Question Number : 131 Question Id : 91394324583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 11 and choose the correct answer from the code given below.
List I List IT
(a) Koormanadi (i) Kayavyuhagyanam
(b) Nabhichakra (i) Loss of hunger and thirst
(c) Kantha koopa (iii) Sthairyam
(d) Moordhajyoti  (iv) Knowledge of star’s position
(e) Chandra (v) Siddhadarshana
Code:

Options:

(a)—(i), (b)—iii), (e)(ii), (d)-w), (e)—liv)
91234296521,

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i), (e)v)
B1334596522,

(a)—(iii), (b)(i), (e)(ii), (d)~(w), (e)—(iv)
91334296523,

(a)—(iv), (b)—(id), (e)—(v), (d)—(1), (e)—(iii)
913342396524,

Question Number : 131 Question Id : 91394324583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gafea Fifsw ot = fge 7o 52 4 9 a8 s+t 9w

el gt I
(a) FH TR () R,
(by TF = (i) @ ¥ v 5 v
(e) U $9 (iii) ﬁﬁ"-‘l‘
(@) wutsfa (iv) ot it feufa = 39
(e) == tv) fagesh
e
Options:
91394396501 AW (Bid, ()~(ii), (D)), (e){iv)

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i), (e)—w)
B1334596522,



(a)—(iii), (b)—(i), (e)(ii), (d)~w), (el—liv)
913343396523,

(a)iv), (b)(id), (e)~(v), (d)}—(1), (e)—(iii)
91234296524,

Question Number : 132 Question 1d : 91394324584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mateh List I with List II and choose the correct answer from the code given below.

List I List IT
(a) Neuron (i) Lungs
(b) Cornea (ii) Kidneys
(¢) Nephron (iii) Brain
(d) Alveoles (iv) Eyes
Code:
Options:
(a)—(ii), (b)—(iv), (e)-(1), (d)—(iii)
91594396525,
(a)—(iii), (b)—(iv), (e)ii), (d)—(D)
91394396526,
(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
913942396527,
(a)—iv), (b)—(1), (e)(iii), (d)—(ii)
21394296528,

Question Number : 132 Question Id : 91394324584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t gt 11 & gafaa Fifsw it = fge o ge 4 9 ad 33+t 9fe .

et 1 et 11
(a) =g i ww
(b) =Hifan ) T
(¢) Wi (i) TS
(d) wfcasien (iv) afd
% :
Options:
91394396505, (a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)

(a)—(iii), (b)—(iv), (e)—(il), (d)—(1)
91394396526,



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
913343396527,

(a)iv), (b)—(1), (e)-{iid), (d)—(ii)
91394396528,

Question Number : 133 Question 1d : 91394324585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :
ListI List IT
(a) Annamaya kosha (i) Bliss
(b) Pranamaya kosha (i) Mind

(¢) Manomaya kosha (iii) Energy
(d) Anandmaya kosha  (iv) Gross Body

Code :

Options:

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91594396529,

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
913342396530,

(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
912343396521,

(a)—(iv), (b)—(i), (e)-(ii), (d)—(iii)
91394396532,

Question Number : 133 Question Id : 91394324585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t =t 118 gafea Aifem ot = fge me g 4 @ ad 39t 9f

et 1 i

(a) T (i) g

(b) ST gl (i) T

(¢) WA FiE (i) Ft

(d) AHEHY HIW (iv) T TR

Be:
Options:

91394396509, @ UiD; (B)=(1¥), (A1), (d)-(iD

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
B13345396530.



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
912343396521,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394396532,

Question Number : 134 Question 1d : 91394324586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mateh List I with List IT and choose the correct answer from the code given below :

List I List IT
(Prakriti) (Type)
(a) Satvika (i) Three
(b) Rajasika (ii) Seven
(e) Tamasika (iii) Six
(d) Tridoshaja-Sharirika (iv) One
Code :
Options:
(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91:94396553.
(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
9139439653234,
(a)—(ii), (b)—(iii), (e)—(i), (d)—iv)
91294396535,
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
91594396556,

Question Number : 134 Question Id : 91394324586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t =t 118 gafea Aifem ot = fge me g 4 @ ad 39t 9f

et 1 T I

(a) Hrfeash P

(b) Trafh () =@

(c) i (i) o7

(@) g (iv) TF

Hhe:
Options:

91394396533, M, ()=, (€)=, (d)—iv)

(a)—iii), (b)~(iD), (e)—liv), (d)~(1)
913343396534,



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
912343396535,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394396536,

Question Number : 135 Question 1d : 91394324587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Hatha Ratnawvali, match List I with List II and choose the correct answer from
the code given below :

List I List IT
(a) Dhauti Karma (i) Arsha Roga
(b) Neti Karma (ii) Mandagni

(e) DBasti Karma (iii) Kasa and Shwvasa
(d) Chakri Karma  (iv) Gulma and Pleeha Roga
(e) Nauli Karma (v) Drishti Dosha

Code :
Options:

(a)—(ii), (b)—(v), (e)(iv), (d)—(1), (e)—(iii)
91234396537,

(a)—(iii), (b)—(v), (e)=(iv), (d)—(i), (e)ii)
91594396538,

(a)—(iii), (b)—(v), (e)~(1), (d)—(ii), (e)iv)
913342396539,

(a)—(i), (b)—{ii), (e)—(iii), (d)~iv), (e)—(w)
91334236540,

Question Number : 135 Question Id : 91394324587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

%6 Tad! % FIER, ge 1% gt 118 gafea $Hifsw ot = fou mo 5 & @ o s+t gf

gl qE I
(a) itfa (i) e
(b e = (i) w=gif
(c) afed & (i) s 3T yard
(d) =k w (iv) TeR S weftar T
(e) +itfer =d (w) @ﬁ?ﬁq
&
Options:

(a)—(ii), (b)—(v), (e)(iv), (d)—(i), (e)—(iii)
91234296537,



(a)(iii), (b)—(v), (e)=(iv), (d)—1), (e)—ii)
912343396538,

(a)(iii), (b)—(v), (e)~(1), (d)(ii), (e)iv)
91234296529,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv), (e)—(w)
91234596540,

Question Number : 136 Question Id : 91394324588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List 1 List IT
(a) Vayu Mahabhuta (i) Rasa
(b) Jala Mahabhuta (ii) Gandha
(¢) Agni Mahabhuta (iii) Sparsha
(d) Prithvi Mahabhuta (iv) Rupa

Code :
Options:

(a)—(1), (b)(iii), (e)—{ii), (d)~(iv)
912342396541,

(a)—(i), (b)ii), (e)—(iv), (d)(iii)
91234296542,

(a)—(iii), (b)—(i), (e)(iv), (d)—(ii)
H13345396543.

(a)—(iii), (b)—~(1), (e)—(ii), (d)~(iv)
91334336544,

Question Number : 136 Question Id : 91394324588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1 &t gt 11 & gafea fifsw ot = g 7o ge 4 9 a8 @+t g

gl | 1T
(a) g HEMYd i =
(b) WA HETYd (i) T4
(e) @ifq weryE (iii) =re
(d) gt HEd (iv) &9
% :
Options:

(a)—(1), (b)—(iii), (e)—{ii), (d)~(iv)
91334236541,



(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
912343396542,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91234296543,

(a)—(iii), (b)—(i), (e)(ii), (d)—iv)
91234596544,

Question Number : 137 Question Id : 91394324589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List 1 List IT
(a) Santosha (i) Samadhisiddhih
(b) Swadhyaya (ii) Kayendriyaziddhih
(¢) Ishwarapranidhana (iii) Anuttamasukhalabhah
(d) Tapa (iv) Ishtadevatasamprayogah
Code:
Options:
(a)—(iii), (h)—(iv), (e)—ii), (d)—(i)
913943936545,
(a)—iv), (b)—(iii), (e)—i), (d)—(ii)
91394296546,
(a)—(ii), (b)(iii), (e)—(iv), (d)—(i)
21394296547,
(a)—(iii), (b)—(iv), (e)—i), (d)—(ii)
91594396548,

Question Number : 137 Question Id : 91394324589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1 &t gt 11 & gafea fifsw ot = g 7o ge 4 9 a8 @+t g

gl g I
(a) erS (i) mfafafy:
(b) w&TEATH (i) wrfafafe:
(c) sTaTafirgm= (iii) FTHGEAH:
(d) &9 (iv) FSCCAATEERINT:
e
Options:

(a)—(iii), (b)—(iv), (e)—(il), (d)—(1)
913342396545,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394396546,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394396547,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
9123453965458,

Question Number : 138 Question Id : 91394324590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List IT and choose the correct answer from the code given below :
List 1 List I
(Type of Personality) (Propounder)

(a) Ascendant (i) Sheldon

(b) Athletic (ii) Allport

() Introvert (iii) Carl Jung

(d) Eectomorphic (iv) Kretschmer

Code:
Options:

(a)—(1), (b)(iii), (e)—{ii), (d)—(iv)
913342396549,

(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91334236550,

(a)—iv), (b)—(id), (e)—(i), (d)—iii)
91394396551,

(a)—(ii), (b)—(iv), (e)—(iii), (d)—i)
H13345396552.

Question Number : 138 Question Id : 91394324590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t geft 11 & gafaa Fifsw it i fge 7o ge 4 o ad a3+t 9w .

1 et I
(=afere= = wn) (frare)
(a) UHEwE (i) e
(b) uHcifesh (i) SIS
(c) Fegrae (iii) e I
(d) TFEIHTh® (iv) SR
Hhe:
Options:

(a)—(1), (b)—(iii), (e)—(ii), (d)~(iv)
91334336549,



(a)—(ii), (h)—(iv), (e)—(i), (d)iii)

91334236550,

(a)(iv), (b)(ii), (e)~(i), (d)iii)
91234296551,

(a)ii), (b)—(iv), (e)(iii), (d)—(i)
91594396552,

Sub-Section Number : 6
Sub-Section I1d: 9139431315
Question Shuffling Allowed : Yes

Question Id : 91394324591 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (139 to 144)
Cesticn Label | Comprehension

Read the following paragraph carefully and answer the next six questions :

The Yoga Sutra of Maharshi Patanjali encompasses four pada or chapters viz. Samadhi
Pada, Sadhana Pada, Vibhuti Pada and Kaivalya Pada. In Samadhi Pada, the definition of
Yoga, types of Chitta vritti and Samadhi are described. Chitta has three components, the
manas, buddhi and ahamkara. Yoga is restraint of fluctuations in Chitta, as a result of it
the soul achieves own natural state. The fluctuations of Chitta can be restraint by Abhyasa
and Vairagya. The two main types of samadhi are sabija and nirbija samadhi. In Sadhana
Pada, the Kriya yoga, Pancha klesha and steps of Bahiranga yoga are described. Five
Yama, five Niyama, Asana, four Pranayama and Pratyahara are elaborated here along
with their benefits to the Sadhaka. Yama are called mahavrata as they are not limited to
any class, place and time. In Vibhuti Pada, Maharshi Patanjali narrated the steps of
Antaranga yoga viz. Dharana, Dhyana and Samadhi. If these three are practised at same
object then they are collectively known as Samyama. The dharana, dhyana and samadhi is
the bahiranga of nirbija samadhi. In this pada, the parinama of Chitta and different types
of Vibhutis are deseribed. In Kaivalya Pada, the five ways to attain siddhi are mentioned
viz. janma, aushadhi, mantra, tapa and samadhi. The four types of karma, and
dharmameghasamadhi are also discussed there. Vivekakhyati is the main way to achieve
Kaivalya. In the state of Kaivalya yvogi is devoid of purushartha; the gunas submerge to
their origin and soul returns to its own natural state.

Sub questions

Question Number : 139 Question Id : 91394324592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is not the component of Chitta ?

Options:

91394396553, ‘‘hamkara

91394396554 lanas
Dhriti

9153394236555,



91394396556, Cuddh

Question Number : 140 Question Id : 91394324593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The *Samyama’ does not include

Options:

Dhyana
91394396557,

Kaivalya
91394396558,
91394396559, —omadhl
91394396560, onarana

Question Number : 141 Question Id : 91394324594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The third pada of Patanjal Yoga Sutra is

Options:

91394396561, -adnana Pada

91394396562, SomadhiPada
Kaivalya Pada

913943965653,

91394396564, ' ipputi Pada

Question Number : 142 Question Id : 91394324595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many types of Pranayama are described by Maharshi Patanjali ?

Options:

91394396565, WO
Th

91394396566, o0
Four

91334596567,



91394396568, T Ve

Question Number : 143 Question Id : 91394324596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Pancha klesha are described in which pada ?

Options:

91394396569, -adnana Pada

91394396570, —omadhiPada
Kaivalya Pada

91394396571,

91394396570, ' ipauti Pada

Question Number : 144 Question 1d : 91394324597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is not the way to attain siddhi ?

Options:
91394396573, ~rushadhi
91394396574, antra
Tapas
91394396575,
Japa
91394396576

Question Id : 91394324591 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (139 to 144)
Cesticn Label | Comprehension



faferfan memsT i SES 5 3N 568 TrEf-4a 3FTd & T % I G

el gdwfer < =i gz § = gl @ et svyfq wefy g, wreT g, favfe arg offt Saew g #¢t
afeifaa fen man @ 1 gurfy urg & = i afowr, fow gfe wd gafy & wert 0 ol fem mn @
et & o e & & — W, 9fg it sdsm | =i e afvt o fidg R, Foraes afomreass smen
ot wamifaes svazem &t wred X adt 8 | v ot S gro e afert & Fla & wewar 1)
gurfY % gt g8 wehR — geltar it Frafar ganfa § | wrem g F foren i, 9 @t offt afgon @i &
ot st vl e @ | s wi m, o Frem, ses, SR ST 9 Semen s araen S g ard
et wfea faamon fean man 2 | 391 6t wEred we S @ w6 2 fedt nfa, o o oo 9 difia
Tdl g 8 | wafd wawrfer 3 fafer urg & ofatn Fim & it syt gron, e i gy & 9l e
2

afg 57 1 =1 gae fawa | srrm R oo At St anfes w9 @ TEE & AW @ S 9
o, e oft Ty frdffe wafy o afedn @ 1 g8 oe @ faw o wfom oft fentferat & forfirs st
&1 9vi foram e 2 | haew uig # fafg-wfta = uie aftl stgfq s, oftwfy, w3, au oft aofa =
3g@ T mn 8 | 9wl o & =R gt et ety < oft ==t g @ | fdeent, Faea 6
siftd 1 964 39 ¥ | Faea arween § At gered & i g #; o o sgm A o= & wm # e
Fre At T i warfash staeen § dte et #

Sub questions

Question Number : 139 Question Id : 91394324592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frfefiga & & s9-a1 faa %1 e 78 2 7

Options:

21594296555,

21594236554,

913345396555,

ki

H1334596556.

Question Number : 140 Question Id : 91394324593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g’ § o aftifad 98 & 2
Options:

21594296557,

2153394236558,

913345396559,



B913345396560,

Question Number : 141 Question Id : 91394324594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qresel I G A E U 2
Options:
e
91394396561 s
gty
91394396562 s
Faeg
91394396563, "
fegfer urg
91394396564,

Question Number : 142 Question Id : 91394324595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wafd ydafer 3 fora+ Wi < s i 9ol TR g 2

Options:

a

H1334596565.

215394236566,

H133453965E7.

913345396568,

Question Number : 143 Question Id : 91394324596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g9 Fore @l e urg o aufs fapar 2 2

Options:

EIRE
2153394236569, R

215394236570,



Faeg
91394396571, b

faqfa g

913345396572,

Question Number : 144 Question 1d : 91394324597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefefiaa & & i fafg 6 wfta = @l 78 22

Options:

215394336573,

9139429657 4. A

91334336575, o

91334336576, T
Sub-Section Number: 7
Sub-Section 1d: 9139431316
Question Shuffling Allowed : Yes

Question Id : 91394324598 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (145 to 150)
Cuesticon Label | Comprehension

Read the following paragraph carefully and answer the next six questions :

In the era of modernization, the excessive speed and demanding situations cause imbalance
and stress, leading to many diseases. Imbalances at emotional level manifest as upsurges
caused by strong likes and dislikes. At psychological level the imbalances lead to conflicts
and often manifest as narrow ego-centric behaviour. Lack of holistic knowledge and
imbalanced outlook at the subtle level are responsible for imbalances at gross level. Thus,
while understanding stress, a holistic concept of man is to be kept in view and not merely
his bodily existence. Taittiriva Upanishad presented the holistic concept of man
systematically in terms of having Panchkosha or five major sheaths. In modern medical
system, stress is studied and understood at the body level as an imbalance of
neurc-endocrine system. Emotional imbalances in the form of strong likes and dislikes lead
to imbalances in Prana (vital energy) at Pranamaya kosha, which percolates to the
Annamaya kosha causing stress and diseases. Origin of desires and actions without
considering what is right or wrong, exhibit imbalance at Manomaya kosha. In
Vijnanamaya kosha, the Avidya goes on reducing until in Anandamaya kosha it is all bliss.
This state is the totally stress free state. Yoga is a boon to achieve happiness and bliss by
removing all imbalances of life.

Sub questions



Question Number : 145 Question Id : 91394324599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which kosha, Avidya goes on decreasing gradually ?

Options:

Annamaya Kosha
91394396577,

Pranamaya Kosha
215394336578,

Manomaya Kosha
91394396579

Vijnanamaya Kosha
31394336580,

Question Number : 146 Question 1d : 91394324600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Imbalances at emotional level manifest as

Options:

91394396581 P TES

51394396552,  ontlict

91394396583, | PPeS
91394396554, DO

Question Number : 147 Question Id : 91394324601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The totally stress free state appears at the level of which kosha ?

Options:

Annamaya kosha
91394396585,

Anandamaya kosha
91394396556,

Vijnanamaya kosha
91394396587,

Manomaya kosha
H1334596585.



Question Number : 148 Question Id : 91394324602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to modern medical system, strezs occurs due to imbalance of

Options:

Neurovaseular system
215394236589,

Neuro-endocrine system
1394396590,

Cardiovascular system
913943936591,

Neuro-muscular system
215394336592,

Question Number : 149 Question Id : 91394324603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The state of bliss can be achieved by

Options:
91394396593, L xeercse
assage
91394396594,
Yoga
91394396595,
91394396596, 120Ce

Question Number : 150 Question Id : 91394324604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which Upanishad stated the holistic concept of man in terms of five major sheaths ?

Options:

Kathopanishad
H133453965597.

Chhandogyopanishad
9133453965398,

Mandookyopanishad

91334596599,



Taittirivopanishad
Q1294 398500, yopan

Question Id : 91394324598 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (145 to 150)
Juestion Label - Comprehension

fAferfaa Temsr #t SAES TFIC 3N §68 TrEl-ga @ Tl % 0t g9

amygffier % g8 g ° et it sit srevgwares afifeufat & s swrges wd aare Iee
gt & Foraes afeomreasy faftm wm &t St gt 8 | ofa wawg ofit Aroeg o o wrETes w6
T GG o FRT AT TR B § | FAISHF T T E GTel FAGEH §g Hl 9H 4 & HIL 9
o gehivl atg-hid saaen % &9 § wefia g § | gem v W srngfera gfeesion ofit gmm 3 &
FITE T T T I  forg fordign 2t & | o1 a=ra it ge awa wr wife sifera %
T 9 sl 6w 6t srEamon e v =g | dfdte sufg d safee i goman 6
FIAYTOM it Gegafead €1 ¥ id WHE A= AYGT THh & ©9 § Fqrar 74 2 | syl fafwan
form % arfa aema =it wilit 3 dfep-ataard 9 9 smgen & w9 § W ud wogn W g | el
qH=g 3T ATIEG o Hrag WiETeaS ader wved s d i v (S sat) § swmeges s
&I B, S S=qanTeal 7RG 9 | d41a Ud dwiiedt d gitafda g @ | e ot sefea w5 faem
feru formm gemtat it sty vd Tegew Frd wHTE F S g & w9 8 Wi A9 § | e
it o arferen = swfirek T8 g & ofi e i 8 We 9 aTeg % &9 | oftafdd € wrdt #
7z feafa qiedu Tara gaa 6t feafa gt @ | Sfam & @it sreegem it @ & wa=a1 1@ e T
A B A U SEHE R |

Sub questions

Question Number : 145 Question Id : 91394324599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
form e & arferen <1 SO BTE AT R 2

Options:

215394296577, A

215334236575, v

913345396579, w

fersmererar =iw &
91394396580,

Question Number : 146 Question Id : 91394324600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HTaTedeh Tl W S70-qe fhe &9 & wohe Bid § 2
Options:

2153394236581,



H13345396582. w

B1334596583.

91334596554,

Question Number : 147 Question 1d : 91394324601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
qUiEHTT FATaHEd STt e e % T W wehe it ] 7

Options:

913345396585, e

HAHCHT T
912943298586,

fasrma s
QA1=294296587.

913345396588, e

Question Number : 148 Question Id : 91394324602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

smyfre fafecen fasm % sgam o fres sergem B gta 8 7
Options:

91394396589, T e 57 3

91394396550, © -sia .l 7§

o TfEg a9 &
91394396591

91394396552, © fr 7 &

Question Number : 149 Question 1d : 91394324603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

A, I FaET wred 6t 1 FehRdt @

Options:



2153342365595, 3

913345396594, o

9133453965395, W

|
91394396596, =

Question Number : 150 Question Id : 91394324604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i< qE&q FrEwi % B9 ¥ 935 6 gamar f srguron fen gefeg § afghaa 2 2

Options:

Farafrg,

2915334236597,

Sr-g g,

B12334596598.

ARG

913345396599,

et 3ufig

B12345396600,



